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RMS3IDX - Analyze Things for Prolog 3 Indexed f 1§-Sep-1984 2?:5

6:
14=Sep=1984 11:52:59 [ANALY? ,SRCIRMS3IDX.B32;1
les’

0001 O Rtitle "RMS3IDX = Analyze Things for Prolog 3 Indexed fi

000§ 0 module rms3idx ( .

0003 1 ident='v04=000') = begin

0004 1

gons 1 !

r f"Q't"'."'.'tt.t'tt't.'Q'l""tt'.""""""'!"l"".'t'.'t"tttltl'."

g T
‘e (OPYRIGHT (c) 1978, 1980, 1982, 1984 BY .
'* DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS, .
;' ALL RIGHTS RESERVED. *
. *
‘e  THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED *
'* ONLY IN ACCORDANCE W]TH THE TERMS OF SUCH LICENSE AND WITH THE ’
'*  INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER b
'+ COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY *
'* OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE [S HEREBY *
'*  TRANSFERRED. v
*
*
*
*
*
*
L
*

<

P
¢  THE INFORMATION IN THIS SOFTWARE |S SUBJECT TO CHANGE WITHOUT NOTI(E

'* AND SHOULD NOT BE CONSTRUED AS A COMMITMENT B8Y DIGITAL EQUIPMENT

E' CORPORATION.

i

! DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS

E' SOF TWARE ON EQUIPMENT WHICH 1S NOT SUPPLIED 8Y DIGITAL.

..

K
E.""t..'.".."l'.".f.."'"""""""."""""'l’i.I'I'."'tittt."l"
{

Tee
facility: VAX/VMS Analyze Facility, Analyze Things for Prolog 3
Abstract: This module is responsible for analyzing various structures

in prolog 3 indexed files, Those routines that are common
to prolog 2 and 3 can be found in RMS2]DX.

ma=d=i=ielelelelolelelololelelelelalelslealalelelalelelalela
alelelolelelelelelelelolelolololololalalelololeleleloleole )

A U WA U AN A L L) U RO PO AU PO RS A RO A = b et o ek b ced ed b b
NOWVS NN = OOV ~NO VAL WA =2 O OB NP NN —= O OC

il vl el il il el il e el ) ) =l ) ) — ) =l ) - D i ) =l D el D ) D ] il sl il el el i i il el el el D i el el il ol ol e

!

i

1

;
0038 ' Environment:
0039 ! .
882? . Author: Paul (. Anagnostopoulos, (reation Date: 26 June 1981
0042 1 ! Moditied By:
0043 !
0044 ! v03-007 PCAIOM Paul (. Anagnostopoulos 1-Apr-1983
0045 ! (hange the message prefix to ANLRMSS_ to ensure that
0046 ! message symbols are unique across all ANALYZEs. This
882; : is necessitated by the new merged message files.
0049 1! v03-006 PCA1007 Paul (. Anagnostopoulos 10 Feb 1983
0050 ! Add suBBort for recovery unit items in the primary data
0051 ! and SIDR records. This required a new routine to calculate
0052 ! the lengths of the various garts of a pr!marr data record,
8822 ; since that calculation has become diabolicatly complex,
0055 3 v03-006 PCA1001 Paul C. Anagnostopoulos 11-0ct-1982
882? ! Add support tor prologue 3 SIDRs.

b VAX=11 Bliss=32 v4.0-742 Page a
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v03-00€

v03-00¢

v03-003

v03-002

v03-001

14=-Sep=-1984 11:52:59

PCAO100 Paul (. Anagnostopoulos 1-0ct-1982
Remove code that displayed the Last duplicate bucket
pointer in the bucket trailer. That pointer was

not used 1n V3, but the code was left in.

PCAD060 Paul Anagnostopoulos = ¢9-Mar-1982
(hanged the way the index record statistics were
calculated to make them parallel to the data record.

PCADOST Paul Anagnostopoulos 26-mar-1982
The statistics callback that specified the nominal
tength of the data record did not include the key.

PCA00O4 ~  Paul Anagnostopoulos 16-Mar-1982
The key significance count is no Longer present in
the data bucket trailer,

PCAM003 Paul Anagnostopoulos 16-Mar-1982
A bug in ANLSSRECLAIMED BUCKET_HEADER caused it to
sometimes think the bucket header was not at the
beginning of the bucket.

VAX=11 Blis
[ANALYZ.SRC
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32
MS
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RMS3IDX RMS3IDX = Analyze Things for Prolog 3 Indexed F 12 -Sep-1984 ;3 96:66 VAX=-11 Bliss=32 vé&.0-742 Page
vO6=000 Module Declarations 14=Sep=1984 11:52:59 [ANALYZ . SRCIRMS3IDX.B32;1 (2)

: 81 0080 1 Xsbttl 'Module Declarations'
: B¢ 0081 1! )
: 83 008 1 ! Lidbraries and Requires:
. 84 008% 1 !
8S 0086 1 _
1) 0085 1 tibrary 'l\b';
: 87 0086 1 require 'rmsreq’:
. 88 0595 1
R 89 0596 1 !
: 90 0597 1 ! Table of Contents:
: 9 0598 1 .
. 9 0599 1
: 9 0600 1 forward routine
. 94 0601 1 anl$3bucket header,
: 95 060 1 anl$3reclaimed bucket _header,
: 96 060 1 anl$3index record,
: 97 0604 1 anl$3primary_data record,
;98 0605 1 anl$3format_data_bytes: novalue,
: 99 0606 1 calculate_data_record_info: novalue,
;100 0607 1 anl$3sidr” record
. 10N 0608 1 anl$3sidr” ponnter
;102 0609 1
: 1038 0610 1!
. 104 0611 1 ! External References:
;105 0612 1!
: 106 0613 1 _
;107 0614 1 external routine
;0 108 0615 1 an{Sbucket,
: 109 0616 1 anlSbucket callback,
: 110 0617 1 anl$che:k Flags,
;M 0618 1 anl$data _callback,
;112 0619 1 anl$format_error,
;113 0620 1 anlStormat_ flags.
;114 0621 1 anl$format hex,
;1S 0622 1 anl$format” _line,
;116 0623 1 anlS$format_ski
;17 0624 1 anl$index callback,
: 118 0625 1 anl$reclaimed bucket _callback;
;19 0626 1
;0 120 0627 1 external
;12 0628 1 anl$gb_mode: b te
;122 0629 1 anlSgl_tat: f blockl, bytel,
;128 0630 1 anl$gw_ prolog word;
;124 0631 1
. 128 0632 1! )
;126 0633 1 ! Own Variables:
;127 06364 1!
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9 [ANALYZ.SRCIR

Isbtel "ANLS3IBUCKET_MEADER = Print and (heck a Bucket Header'
lae

' Functional Description: _ o _
This routine is responsible for pgxntwng and checking the contents
of the bucket header in prolog 3 indexed file buckets,

global routine anl$3bucket_header(the_bsd,key_id.dups,level, report,indent_ievel) = begin

bind

own

local

formal Parameters:

the_bsd The address of a BSD describing the complete bucket.
) We update 1t to the next bucket, )

key_id The alleged ID of the key descriptor for this bucket.

dups A boolean, true if duplicates allowed for this key.

level The alleged level of this bucket,

report A boolean, true if we are to print a report,.

indent_level The indentation level of the report.

Implicit Inputs:

global data

Implicit Outputs:

global data

Returned Value:

True if there is another bucket in this chain, false otherwise.

Side Effects:

b = .the_bsd: bsd;

index_ftags_def: blonk[B{longl initial(

uﬁlit byte (Xascic °'BKT$V_LASIBKT'),
gpl\t byte (Xascic 'BKT$V_ROOTBKT')

data_flags_def: block[?.bong] initial(

sp: ref block[,.byte],
tp: ref block(,byte]l;

?6lit byte (Xascic "BKTSV_LASTBKT')

' We know the bucket header tits in the bucket. Set up a pointer to the header
! and a pointer to the trailer, which is the lLast 8 bytes,

5P
tp

.blbsdS$| _bufptr];
.b(bsd$! _endptr) - 8;

S31D0x.832;1
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DER = Print and (heck a Bucket H 14-Sep-1
2 ! Now we can format the header if requested.

it .report then (

! Start with a nice header, containing the VBN,

anl$tormat_Line(3,.indent_Llevel,anlrms$_bkt,.blbsd$l_vbnl);
anl$format_skip(0);

: Format the check character.
anl$format_Line(0,.indent_Level+l,anlrms$_bktcheck,.splbkt$b_checkcharl);
! format the key ID.
anl$format_tine(0,.indent_Level+l,anlrms$_bktkey,.splbktSb_indexnol);

. Now the VBN address sample.

anlS$tormat_Line(0,.indent_Level+1 ,anirms$_bktsample,.splbktSw_adrsamplel);
! Now the free space offset.

anl$tormat_Line(0,.indent_Level+l,anlrms$ _bktfree,.sp(bktSw_keyfrespcl);
! Now the next avaitable record ID.
anl$tormat_Line(0,.indent_Level+l,anlrms$_bktrecid3,.splbktSw_nxtrecidl);
! Now the next bucket VBN.
anl$format_Line(0,.indent_Llevel+l,anlrms$_bktnext,.splbkt$l_nxtbkt]);

! Now the level number.

ani$tormat_Line(0,.indent_Level+1, anlrms$S_bktievel,.splbktSb_levell);

! Now the control bits.

anl$format_tflags(,indent Level+l,anlrms$_bktflags,.splbktSb_bktcbl,
(1t .sp(bktSb_Level] eqlu 0 then data_flags_def else index_flags_det));

! Now the VBN List pointer size, but only if this is an index bucket.

it .splbkt$b_levell gtru 0 then .
anl$Tormat_Line(0,.indent_Level+1,anlrms$_bktptrsize,.splbktSv_ptr_sz)¢2);

! Now we are going to format the stuff at the end cf the bucket.
! There is only the VBN free space offset if this is an index bucket,

anl$tormat_skip(0),
it .splbktSb_level] gtru 0 then
anl$format_Line(0,.indent_Level+1,anlrms$_bktvbnfree,.tpl(4,0,16,01);

L) U LA L Ll A U U Ul A Ll A A AN L A AN LS A U A LA L L W L N L A U U A A A L A L U ol A Ll Lt L Ll L M L L LN
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! Now

' fair
''at o
! Make

it .sp

' Chec
it .sp

' Chec
if .sp

4
M

if .sp
.Sp

! Chec
it .sp

! Chec

13
lze Things for Prolog 3 Indexed f 14-5ep-198£ 46 VAX=11 Bliss=3
DER = Print and (heck a Bucket H 14-Sep-1984 59 CANALYZ.SRCIRM

we are going the check the contents of the bucket header. This is a
ly rigorous test, but doesn’'t check anything that requires looking
ther structures.

23:5 2 V4.0-742
11:5 S

6:
2: 310x.B32;1

sure the check byte is present in the last byte of the bucket.

(bkt$b_checkchar) nequ ch$rchar(.blbsd$l _endptrl=1) then
ant$Tormat_error(anirms$_badbktcheck,.6lbsd$l_vbnl);

k the key D.

(bkt$b_indexno] nequ .key id then
anl$format_error(anlrms$_badbktkeyid,.blbsd$L_vbnl);

k the bucket address sample.

(bktSw_adrsample] nequ (.blbsd$L_vbnl and ¥x'0000tfff’') then
anl$¥ormat_error(anlrms$_badbkisample,.b(bsd$l_vbnl);

;‘E?at the next available byte is within reasonable Limits,

(bktSw_freespace] lssu bkt$c_overhdsz or
(bktSw_freespace) gtru .b[bsdSw_sizel*512-1 then

ani$Tormat_errorlanirms$_badbktfree,.blbsd$t_vbnl);
k the Level number.

(bkt$b_Llevel] nequ .level *hen
anl$Tormat_error(anlrms$_badbktlevel,.blbsd$l_vbnl);

k the byte of control flags. Make sure we don't get confused by

! the pointer size,
anlScheck_flags(.b{bsd$L_vbnl,.splbkt$b _bktcb] and X¥x'e7’,

! Now

if .sp

) else

(it .splbktSb_Llevel] eqlu 0 then data_flags_def else index_flags_def));
split up depending on the type of bucket.
(bkt$Sb_level) gtru 0 then (

! This is an index bucket. C(heck the VBN free space offset.
! 1t we are acchulqtrng statistics, then call the bucket callback
! routine, telling i1t the level, bucket size, and fill amount.

it .tplé,0,16,0] Lssu .splbktSw_tfreespacel-1 or
.tpl4,0,16,0] gtru .blbsdSw_Size)*512-1 then
an(Storma .error(anlrms$_badvbnfree,.b(bsd$lL_vbnl);

statistics_callback(
anT$bucket_caliback(.splbktSb_Levetl,
.blbsd$w_size],
.b(bsdSw_sizel*512 - ,tp(4,0,16,0]) + .splbktSw_freespacel - 1);

Page
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[ASIAN T S N1 V] NI NT N

! ALl we need to do for data buckets is call the statistics
' callback routine with the same information.

statistics _caliback(
anT8bucket_callback(.sp(bktSb_level],
.blbsdSw_size],
) .sp(bkt$w_freespacel ¢+ 1);

vé.0-742
31Dx.B832;1

6:4 VAX=11 BLi
2:5 [ANALYZ.SR



e A"

- b

RMS3IDX RHSS%DX - Anal ze Things for Prolog 3 Indexed f 1% ~Sep=1984 23:56:4
BUCKET HE DER = Print and (Check a Bucket H 14- Sep-1984 11:

v04~-000 ANLS

307 0811 2

308 081% b4

309 081 2

310 08146 3

311 0815 3

312 0816 3

313 0817 3

314 0818 2 ) else
319 0819 2

216 0820 2

317 0821 1 end;

5% 4B 42 54 53 4
5 4B 42 54 4LF &F
5 4B 42 5¢ 53 M

4C
52
4

52:5

Otherwise forget it.

blbsdSL_vbnl = .splbkt$l_nxtbkt];

anlSbucket(b,0);
return true;

return false:;

26 54 4B 42 0D
5 4B 42 0D
24 54 4B 42 0D

Ao

-
LAALA
oo

o

&H

00000001

00000000* 00000000°
00000000

00000000"*

LTITLE
. 1DENT
PSECT
00000 P.AAA: ASCII
0000E P.AAB: .ASCII
0001C P.AAC: LASCII
.PSECT

00000 INDEX_FLAGS DEF:
.LORG

VAX=-11 Bliss=32 Vv4.0-742 Page
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' 1f this is not the Llast bucket in this chain, then let's update the
' BSD to describe the next one.

it not .spl(bkt$v_Lastbkt] then (

RMS3IDX RMSSIgXF- Analyze Things for Prolog
dexe

\v04~000\

$PLITS ,NOWRT ,NOEXE,2

<13>\BKTS$V_LASTBKT\

<13>\BKT$V_ROOTBKT\

<13>\BKTSV_LASTBKT\

$OWNS ,NOEXE , 2

1

00004 .ADDRESS P.AAA, P.AAB

0000C DATA_ FLAGS DEF:
.LONG

0

00010 ADDRESS P.AAC

EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
LEXTRN
.EXTRN
EXTRN
EXTIRN
.EXIRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
EXTRN

ANLRMSS_OK, ANLRMSS_ALLOC
ANLRMSS” ANY THING
ANLRMSS_BACKUP, ANLRMSS_BKT
ANLRMSS” BKTAREA

ANLRMSS _BKTCHECK

ANLRMSS _BKTFLAGS
ANLRMSS_BKTFREE

ANLRMSS “BKTKEY, ANLRMS$S BKTLEVEL
ANLRMSS_ BKTNEXT

ANLRMSS “BKTPTRSIZE

ANLRMSS _BKTRECID

ANLRMSS “BKTRECID3

ANLRMSS “BKTSAMPLE

ANLRMSS “BKTVBNFREE
ANLRMSS_BUCKETSIZE

ANLRMSS “CELL, ANLRMSS_CELLDATA
ANLRMSS CELLFLAGS

ANLRMSS_CHE CKHDG
ANLRMSS_CONTIG, ANLRMSS_CREATION
ANLRMSS~ CTLSIZE

ANLRMSS_DATARE(

ANLRMSS”L ATABKTVBN
ANLRMSS_DUMPHEAD ING
ANLRMSS_EOF, ANLRMSS_ERRORCOUNT
ANLRMSS ERRORNONE

8
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ALYZ.SRCIRMS3IDX.B32;1

fn ANLRMSS _EXPIRATION
ANLRMS R
ANLRMS ANLRMSS _FILEORG
ANLRMS PEC

ANLRMSS_FLAG, ANLRMSS_GLOBALBUFS
RN ANLRMSS_HEXDATA

TRN ANLRMSS_HEXHEADING1

TRN ANLRMSS_HEXHEADING?

TRN ANLRMSS”IDXAREA

TRN ANLRMSS_IDXAREAALLOC

TRN ANLRMSS”IDXAREABKTSZ

XTRN ANLRMSS_IDXAREANEXT

ANLRMSS” IDXAREANOALLOC
ANLRMSS_IDXAREAQTY

. ANLRMSS_ IDXAREARE CL

.EXTRN ANLRMSS_IDXAREAUSED

.EXTRN ANLRMSS_IDXKEY, ANLRMSS_[DXKEYAREAS
.EXTRN ANLRMSS_ IDXKEYBKTS?

.EXTRN ANLRMSS_IDXKEYBYTES

.EXTRN ANLRMSS_IDXKEY1TYPE

.EXTRN ANLRMSS_IDXKEYDATAVBN

.EXTRN ANLRMSS_IDXKEYFILL

.EXTRN ANLRMSS_IDXKEYFLAGS

.EXTRN ANLRMSS_IDXKEYKEYSZ

.EXTRN ANLRMSS$_ IDXKEYNAME

.EXTRN ANLRMSS_IDXKEYNEXT

.EXTRN ANLRMSS_IDXKEYMINREC

.EXTRN ANLRMSS_IDXKEYNULL

.EXTRN ANLRMSS_IDXKEYPOSS

.EXTRN ANLRMSS$_IDXKEYROOTLVL

.EXTRN ANLRMSS_IDXKEYROOTVEBN

.EXTRN ANLRMSS_IDXKEYSEGS

.EXTRN ANLRMSS_IDXKEYSIZES

.EXTRN ANLRMSS”IDXPRIMREC

LEXTRN ANLRMSS”IDXPRIMRECFLAGS

-EXTRN ANLRMSS_IDXPRIMRECID

.EXTRN ANLRMSS”IDXPRIMRECLEN

.EXTRN ANLRMSS_IDXPRIMRECRRV

.EXTRN ANLRMSS_IDXPROAREAS

.EXTRN ANLRMSS_IDXPROLOG

.EXTRN ANLRMSS_IDXREC, ANLRMSS_IDXRECPTR
.EXTRN ANLRMSS_ IDXSIDR
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.EXTRN ANLRMSS_IDXSIDRDUPCNT
.EXTRN ANLRMSS”IDXSIDRFLAGS
.EXTRN ANLRMSS_IDXSIDRRECID
.EXTRN ANLRMSS_IDXSIDRPTRFLAGS
.EXTRN ANLRMSS_IDXSIDRPTRREF
.EXTRN ANLRMSS_ INTERCOMMAND

.EXTRN ANLRMSS_INTERHDG
.EXTRN ANLRMSS_LONGRE(
.EXTRN ANLRMSS_MAXRECSIZE
.EXTRN ANLRMS$_NOBACKUP
.EXTRN ANLRMSS_NOEXPIRATION
.EXTRN ANLRMSS_NOSPANF ILLER
EXTRN ANLRMSS_PERFORM
EXTRN ANLRMSS$_PROLOGFLAGS
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LEXTRN ANLRMSS PROLOGVER

LEXTRN ANLRMSS PROT, ANLRMSS RECATTR

.EXTRN ANLRMSS_RECFMT, ANLRMSS _RECLAIMBKT

.EXTRN ANLRMSS_ RELBUCKET

.EXTRN ANLRMSS_RELEOFVBN

.EXTRN ANLRMSS RELMAXRE(

.EXTRN ANLRMSS RELPROLOG

.EXTRN ANLRMSS_RELIAB, ANLRMS$ REVISION

.EXTRN ANLRMSS_ STATHDG

.EXTRN ANLRMS$_SUMMARYHDG

LEXTRN ANLRHSS OWNERUIC

LEXTRN ANLRMSS™ _JNL, ANLRMSS AIJUNL

LEXTRN ANLRMSS_BIJNL, ANLRMSS _ATUNL

.EXTRN ANLRMSS ATTOP, ANLRMSS_BAD(CMD

.EXTRN ANLRMSS_ BADPATH

.EXTRN ANLRMSS_BADVBN, ANLRMSS_DOWNHELP
EXTRN ANLRMSS_ DOWNPATH

.EXTRN ANLRMSS_EMPTYBKT

.EXTRN ANLRMSS_NODATA, ANLRMSS_NODOWN
.EXTRN ANLRMSS_NONEXT, ANLRMSS NORECLAIMED
.EXTRN ANLRMSS_NORECS, ANLRMSS_NORRV
.EXTRN ANLRMSS_ RESTDONE

.EXTRN ANLRMSS_STACKFULL

.EXTRN ANLRMSS_UNINITINDEX

.EXTRN ANLRMSS_FDL IDENT

.EXTRN ANLRMSS_FDLSYSTEM

.EXTRN ANLRMSS_FDLSOURCE

.EXTRN ANLRMSS_FDLFILE

.EXTRN ANLRMSS_FDLALLOC

.EXTRN ANLRMSS_FDLNOALLOC

.EXTRN ANLRMSS_FDLBESTTRY

.EXTRN ANLRMSS_FOLBUCKETSI2E

.EXTRN ANLRMSS_FDLCLUSTERS,TE

.EXTRN ANLRMSS_FDLCONTIG

.EXTRN ANLRMSS_FDLEXTENSION

.EXTRN ANLRMSS_FDLGLOBALBUF S

.EXTRN ANLRMSS_FDLMAXRECORD

.EXTRN ANLRMSS_FDLF ILENAME

.EXTRN ANLRMSS_FDLORG, ANLRMSS_FDLOWNER
.EXTRN ANLRMSS_ FOLPROTECTION

.EXTRN ANLRMSS_FDLRECORD

.EXTRN ANLRMSS_FDLSPAN

.EXTRN ANLRMSS_FDLCC, ANLRMSS_FDLVFCSIZE
.EXTRN ANLRMSS_ FDLFORHAT

.EXTRN ANLRMSS_FDLSIZE

.EXTRN ANLRMSS_FDLAREA

.EXTRN ANLRMSS_FDLKEY, ANLRMSS_FDLCHANGES
.EXTRN ANLRMSS_ FOLDATAAREA

.EXTRN ANLRMSS_FDLDATAFILL

.EXTRN ANLRMSS_FDLDATAKEY(COMPB

EXTRN ANLRMSS_FDLDATARECCOMPB

EXTARN ANLRMSS_FDLDUPS

EXTRN ANLRMSS”FDL INDEXAREA

.EXTRN ANLRMSS_FDL INDEXCOMPB

.EXTRN ANLRMSS_FDL INDEXF ILL

.EXTRN ANLRMSS_FOLL 1 INDE XAREA

.EXTRN ANLRMSS_FDLKEYNAME

N —
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ANLRMSS _FDLNORECS
ANLRMSSTFDLNULLKEY
ANLRMSS_FDLNULLVALUE
ANLRMSS$"FDLPROLOG
ANLRMSS_FDLSEGLENGTH
ANLRMSS”FDLSEGPOS
ANLRMSS FDLSEGTYPE

ANLRMSS_FDLANALARE A
ANLRMSS FDLRECL
ANLRMSS”FDLANALKEY
ANLRMSS"FDLDATAKEYCOMP
ANLRMSS_FDLDATARE(COMP
ANLRMSS _FDLDATARECS
ANLRMSS_FDLDATASPACE
ANLRMSS_FDLDEPTH
ANLRMSS_FDLDUPSPER
ANLRMSS_FDL IDXCOMP
ANLRMSS “FDLIDXFILL
ANLRMSS_FDLIDXSPACE
ANLRMSS _FDLIDXL1RECS
ANLRMSS_FDLDATALENME AN

ANLRMSS”F DL [ DXLENMEAN
ANLRMSS”STATAREA
ANLRMSS STATRECL
ANLRMSS STATKEY
ANLRMSS STATDEPTH
ANLRMSS“STATIDXLIRECS
ANLRMSS STATIDXL ENME AN
ANLRMSS STATIDXSPACE
ANLRMSS STATIDXF ILL
ANLRMSS”STATIDXCOMP
ANLRMSS™STATDATARECS
ANLRMSS~STATDUPSPER
ANLRMSS”STATDATALENME AN
ANLRMSS “STATDATASPACE
ANLRMSS STATDATAF ILL
ANLRMSS " STATDATAKE YCOMP
ANLRMSS~STATDATARE C COMP
ANLRMSS “STATEFF [ CIENCY
ANLRMSS “BADAREA1ST?
ANLRMSS “BADAREABK TS ZE
ANLRMSS “BADAREAF | T
ANLRMS$ “BADAREA|D
ANLRMSS "BADAREANE X T
ANLRMSS “BADAREAROQT
ANLRMSS “BADAREAUSED
ANLRMS S “BADBK TAREA|D
ANLR*53$ “BADBK T CHE CK
ANLRM3S “BADBK TF REE
ANLRMSS “BADBK TKEY D
ANLRMS$ "BADBK TLEVEL
ANLRMS$ “BADBK TROOTBI T
ANLRMSS “BADBK T SAMPL €
ANLRMSS "BADCELLFIT
ANLRMSS “BADCHE CK SUM
ANLRMSS “BADDATARE (B]TS
ANLRMSS “BADDATARE CF 11
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OfFFC 00000
58 00006 CfF 9t 00002
SA 0000*' (¢ 9F 00007
59 00006 Cf 9E 0000C
58 00006 Cf 9F 00011
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NLRMSS _BADDATARE(PS

ANLRMSS “BADSIDXKEYF]T

ANLRMSS “BADIDXLASTKEY

ANLRMS$S “BAD IDXORDER

ANLRMSS BADIDXRECBITS

ANLRMSS "BADIDXRECF]T

ANLRMS$ “BADIDXRECPS

ANLRMSS “BADKE YAREAID

ANLRMSS “BADKEYDATABKT

ANLRMSS “BADKEYDATAF [T

ANLRMSS “BADKEYDATATYPE

ANLRMSS “BADKEY]DXBKT

ANLRMSS “BADKEYFILL

ANLRMSS “BADKEYF|T

ANLRMSS “BADKE YREF [D

ANLRMSS “BADKEYROOTLEVEL

ANLRMSS “BADKE YSEGCOUNI

ANLRMSS “BADKE YSEGVE (

ANLRMSS “BADKE YSUMMARY

ANLRMSS “BADREADNOPAR

ANLRMSS “BADREADPAR

ANLRMS$_BADS IDRDUP(T

ANLRMSS “BADSIDRPTRF T

ANLRMSS _BADSIDRPTRSZ

ANLRMSS _BADSIDRS [ ZE

ANLRMSS “BADS TRE AME OF

ANLRMSS _BADVBNFREE

ANLRMSS$ “BKTLOOP

ANLRMSS “EXTENDERR

ANLRMSS_F LAGERROR

ANLRMSS “MISSINGBKT

ANLRMSS_NOTOK, ANLRMSS_SPANERROR
ANLRMSS® TOOMANYRECS

ANLRMSS UNWIND, ANLRMSS_VF(TOOSHORT
ANLRMSS® CACHEFULL

ANLRMSS “CACHERELFAIL

ANLRMSS FACILITY

ANLSBUCRET, ANLSBUCKET_CALLBA(K
ANLSCHECK FLAGS

ANLSDATA TALLBACK

ANL $F ORMAT _ERROR
ANLSFORMATCFLAGS
ANLSFORMAT “HEX, ANLSFORMAT L INE
ANLSFORMAT"SK P

ANLSINDEX CTALLBACK
ANLSRECLATMED BUCKET CALLBACK
ANLSGB_MODE, ENLSGL_FAT
ANLSGW™ PROLOG

$CODES  NOWRT 2

24
:5
A

ANLS3BUCKET MEADER, Save R2,R3,R4,RS5,R6,R7,

R8.R?,R10,RTY

AN($GB MODE, R11
OATA FCAGS DEF, R10
ANLSFORMAT™ ERROR R9
ANLSFORMAT L INE, RSB

Page
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5 046 AC DO 00016 MOVL THE BSD, R& : 0667
53 0C A4 DO 0001A MOVL 12(RG), SP . 0689
56 10 A4 DO 0001E MCVL 16(R4), R . 0690

52 F8 A6 9t 00022 MOVAB  -B8(R6), TP .
03 16 AC EB 00026 BLBS REPORT, 1§ . 0694

00ED 31 0002A BRW 5% :
04 A& DD Q002D 18: PUSHML & (R&) ; 0698

000000006 8f DD 00030 PUSHL  #ANLRMSS Bk T :

18 AC DD 00036 PUSHL  INDENT_LEVEL ;

03 0D 00039 PUSHL  #3 :

68 06 B 00038 CALLS  #&, ANLSFORMAT | INE ;
7€ D& Q003€ CLRL -(SP) ; 0699

00006 CF 01 ¢B 00040 CALLS  #1, ANLSFORMAT_SK]P :
143 63 9A 00045 MOVIBL (SP), =(SP) : 0703

00000000G 8F DD 00048 PUSHL  #ANLRMSS BXT(HE(K :

55 18 AC 01 €1 0004E ADDLS  #1, INDERT_LEVEL, RS :

55 0D 00053 PUSHL RS :

7t D& 00055 (LRL -(SP) :

68 04 FB 00057 CALLS  #6, ANLSFORMAT | INE :
43 01 A3 9A 000SA MOVIBL 1(SP), =(SP) ; 0707

000000006 8f DD 000SE PUSHL  #ANLRMSS BKTKEY :

55 DD 00064 PUSHL RS :

7€ D4 00066 CLRL -(SP) :

68 04 B 00068 CALLS  #4&, ANLSFORMAT | INE :
I4: 02 AS 3C 00068 MOvVZIWL 2(SP), =-(SP) : 0N

000000006 8f DD 000Q6F PUSHL  #ANLRMSS BKTSAMPLE :

55 0D 00075 PUSHL RS :

7€ D& 00077 CLRL -(SP) :

68 04 FB 00079 CALLS  #4&, ANLSFORMAT_L INE :
143 06 A3 3( 0007C MOVZIWL &(SP), =(SP) : ONnS

000000006 8F DD 00080 PUSHL  #ANLRMSS BKTFREE :

55 0D 00086 PUSHL RS :

7t D4 00088 CLRL -(SP) :

68 0L £8B QCOBA CALLS W4, ANLSFORMAT | INE :
7¢ 06 A3 3C Q008D MOVIWL 6(SP), =(SP) : 0719

000000006 8F DD 0009 PUSHL  #ANLRMSS BKTRE(ID3 :

55 0D 00097 PUSHL RS :

7¢ D& 00099 CLRL -(SP) :

68 04 B 00098 CALLS  #4&, ANLSFORMAT_L INE :
08 A3 DD 0009t PUSHL  8(SP) : 072%

000000006 8fF DD 000A1 PUSHL  NANLRMSS BXTNEXT :

55 0D Q00A7 PUSHL RS :

7€ 04 000A9 CLRL -(SP) .

68 04 B 000AB CALLS  #4&, ANLSFORMAT L INE R
7€ 0C A3 9A Q0OAE MOVIBL 12(SP), =(SP) ; 0727

000000006 8f DD 00082 PUSHL  #ANLRMSS BKTLEVEL :

55 00 00088 PUSHL RS :

7t D& 000BA (LRL -(SP) :

68 04 B 000BC CALLS  #4, ANLSFORMAT L INE :
0C A3 95 0008¢f 1S18 12(SP) . 0732

05 12 000C2 BNEQ 2% :

50 6A 9t 000(4 MOVAB  DATA_FLAGS_DEF, RO :

04 11 000C7 BRB b} :

50 Fé AA  9E 000(9 2%: MOVAB INDEX_FLAGS _DEF, RO :

SO DD 000(D 3%: PUSHL RO :
143 0D A3 9A Q00CF MOVIBL 13(SP), =(SP) s 07T

000000006 8f 0D 000D? PUSHL  SANLRMSS BKTFLAGS :



08

14
RMS3IDX - Analyze Things for Prolog 3 Irdexea f 1§-Sep-1984 23:56:46 VAX=11 Bliss=32 vé&.0=-742 P 16
ANL&iBu(xEt_nE‘oen = Print and C“Q?* d Bucket H 14-Sep-1984 11:52:59 [ANALYZ. SRCIRMS3IDX.B32;1 %€ 5
55 DD 00009 PUSHL RS ;
00C0G CF 04 FB 000DB CALLS  #&, ANLSFORMAT FLAGS :
57 D& Q00€0 (LRL R7 : 0736
0C A3 95 000€? 15718 12(SP) .
18 13 000€S BEQL 63 :
57 06 000€7 INCL R7 :
143 0D A3 02 03 Ef Q00E9 ExT2v  #3, 82, 13(SP), =(SP) ; 0737
6k 02 (2 000¢EF ADDL2  #2, (SP) :
000000006 8F DD Q00F2 PUSHL  #ANLRMSS BKTPTRS]ZE :
5S 0D Q000F8 PUSHL RS :
7€ D& 000FA CLRL -(SP) .
68 06 FB 000f¢C CALLS  #4, ANLSFORMAT L INE :
7€ D& Q0OFF 4%: CLRL -(SP) P 0742
0000G CF 01 B 00101 CALLS  #1, ANLSFORMAT_SK[P :
11 S7 E9 00106 BLB( R7, 5% T 0743
7t 06 A2 3C 00109 MOVZIWL &(TP), =(SP) ; 0744
000000006 8F ©OD 00100 PUSHL  #ANLRMSS BKTVBNFREE :
55 DD 00113 PUSHL RS :
7€ 04 00115 (LRL =(5P) :
68 04 FB G0117 CALLS  #4, ANLSFORMAT L INE :
FF A6 63 91 0011A S%: (MPB (SP), =1(R6) ; 0752
0C 13 0011€ BEQL 6% :
046 A& DD 00120 PUSHL & (R&) ; 0753
000000006 8F DD 00123 PUSHL  #ANLRMSS BADBKT(CHECK :
69 02 B 00129 CALLS  #2, ANLSFORMAT_ERROR ;
AC 01 A3 08 00 ED 0012C 6$: C(MPZv  #Q, #8, 1(SP), KEY_ID : 0757
0C 13 00133 BEQL 14 :
06 A4 DD 00135 PUSHL  &(R&) ; 0758
000000006 8F DD 00138 PUSHL #ANLRMSS BADBKTKEYID ;
69 02 B 0013¢ CALLS  #2, ANLSFORMAT_ERROR :
56 04 A4 DO 00141 7%: MOVL L(R4L), R6 . 0762
56 02 A3 B1 00145 (MPW 2(SP), Ré6 H
08B 13 00149 BEQL 8s :
56 DD 00148 PUSHL R6 : 0763
000000006 8F DD 0014D PUSHL #ANLRMSS BADBKTSAMPLE :
69 02 B 00153 CALLS  #2, ANLSFORMAT_ERROR ;
55 06 A3 3C 00156 8$: MOVZIWL & (SP), RS ; 0768
0€ 55 81 0015A (MPW RS, a4 :
OF 1F 00150 BLSSU 9% :
50 02 A& 3C 0015¢ MOvVZWL 2(R4), RO . 0769
50 50 09 78 00163 ASHL  #9, RO, RO ;
50 07 00167 DECL RO ;
50 55 D1 00169 CMPL RS, RO ;
08 18 0016C BLEGU 108 :
56 DD 0016F 9%: PUSHL Ré6 : 0770
000000006 8F DD 00170 PUSHL  #ANLRMSS BADBKTFREE :
69 02 £B 00176 CALLS  #2, ANLSFORMAT_ERROR :
57 0C A3 9A 00179 10%: MOVIBL 12(SP), R7 ;s 0774
10 AC 57 01 0017D CMPL R7, LEVEL :
08 13 00181 geaL 118§ :
56 0D 00183 PUSHL  Ré s 0775
000000006 8F DD 00185 PUSHL  #ANLRM3$ BADBKTLEVEL :
69 02 FB 00188 CALLS  #2, ANLSFORMAT_ERROR :
57 D5 001BE 11%: TSTL R7 : 0781
05 12 00190 BNEQ 12% :
50 6A 9t 00192 MOVAB  DATA_FLAGS_DEF, RO :
04 11 00195 8RB 138 :
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50 Fé AA  9¢ 00197 1%%: MOVAS INDEX_FLAGS_DEF, RO ;
50 DD 00198 13%: PUSHL RO :
50 0D A3 9A 00190 MOVIBL 13(SP), RO ;0780
7€ S0 FFFFFF18 8F (B 001A1 BICLS #-2%2. RO, =(SP) ;
56 0D 001A9 PUSHL R6 ;
00006 CF 03 B 00148 CALLS  #3, ANLSCHECK_FLAGS :
57 DS 00180 TSTL R7 : 0785
48 13 00182 BEQL 178 :
50 FF AS 9 001B& MOVAB  =1(RS), RO : 0791
50 04 A2 10 00 ED 00188 (MP2y #C, m16, 4(TP), RO :
12 1fF 001BE BLSSU 14§ :
50 02 A6 3C 001C0 MOVIWL 2(R4) ; 0792
50 50 09 78 001C4 ASHL #9, R), no :
50 07 001C8 DECL RO :
50 04 A2 10 00 ED 001CA CMPZV  #0, ®16, 4(TP), RO :
08 18 00100 BLEQU 15§ :
56 0D 001D2 14%: PUSHL  Ré : 0793
000000006 8F DD 001D& PUSHL  #ANLRMS$ BADVBNFREE :
69 02 B 001DA CALLS  #2, ANLSFORMAT ERROR :
02 68 91 0010D 15%: (MPB ANL $68 _MODE, #2 : 0799
05 13 001€0 BEQL 16% s
04 68 91 Q001€2 (MPB ANLSGB_MODE, #4 :
2D 12 001¢S BNEQ 20% :
50 02 A& 3C Q01E7 16%: MOVIWL 2(R&) :
50 50 09 78 001EB ASHL #9, RO, RO :
51 04 A2 3C 001EF MOV ZWL 4(19) .
50 §1 (2 Q01F3 SUBL 2 6 ;
FF AS540 9F 001F6 PUSHAB -1(R5)[R0] :
00 11 001FA BRB 19% :
02 68 91 Q01fFC 17%: (MPB ANLSGRB_MODE, #2 . 0810
05 13 Q01FF BEQL 18% :
04 68 91 00201 (MPB ANLSGB_MODE, #4 :
0E 12 00204 BNEQ 20% :
01 AS 9F 00206 18%: PUSHAB 1(RS) :
7¢ 02 AL 3C 00209 19%: MOV ZWL 2(R4) =-(SP) :
57 0D 00200 PUSHL R?7 :
0000G C(F 03 B 0020Ff CALLS  #3, ANLiBUCKET _CALLBACK :
12 0D A3 EB 00214 20%: BLBS 13(SP) 213 : 0814
04 A4 08 A3 DO 00218 MOVL 8(SP), &4(R&) : 0815
7€ D& 00210 CLRL -(SP) ; 0816
S4& DD 0021F PUSHL R4 :
0000G (F 02 F£B 00221 CALLS 82, ANLSBUCKE?T :
50 01 DO 00226 MOVL 21, RO : 0819
04 00229 RET :
50 D& 0022A 21%: CLRL RO :
06 0022C RET : 0821

; Routine Size: 557 bytes, Routine Base: $CODES ¢+ 0000
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DX « Analyze Things for Prolog 3 Indexed
RECLAIMED BUCKET_HEADER « (heck L format R
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Tsbttl "ANLSSRECLAIMED _BUCKET _MEADER - (heck § Format Reclaimed Bucket'®

fOO

. functional Description:

' This routine 1s called to check and opticnally format the header
of a reclamed bucket. These buckets reside on the available
List chained off the area descriptor.

1
. Formal Parameters:

. the_bsd Address of BSD describing bucket,

! report A boolean, true it we are tu format the header.
: indent _Llevel Indentation level for the report.

' Implicit Inputs:
global data

: Implicit Outputs:
! global data

]
[}
}
!
. Returned value: ) ] _

E True it there is another bucket in the chain, false otherwise.
\

[}

[}

' Side Etfects:

14
f 12—509-1984 3:56:46 yAX=-11 Bliss~
14=-Sep=-1984 11:52:59 [ANALY] . SRC

b
IR

3
M

2 _v&.0-762
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global routine ani$3reclaimed_bucket_header(the_bsd.report,indent_level) = begin

bind
b = .the_bsd: bsd;

own
control_flags_det: block&?.long] initial(

gélit byte (Zascic 'BKTSV_LASTBKT®)
local
sp: ret block(,byte];
! We know the bucket header fits in the bucket.
! Now we can format the header if requested.
sp = .blbsdSl_butptr];
it .report then (

! Start with a nice header, containing the VBN.

anl$tormat_Line(3,.indent_Level ,anlrms$_reclaimbkt,.b(bsd$l_vbnl));

ani$format_skip(0);

! format the check character,

ani$format_Line(0,.indent_Level+l,anlrms$ _bktcheck,.sp{bkt8b_checkcharl);

Page
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v04-000 ANLS3RECLAIMED _BUCKET_HEADER = (heck & Format R 14-Sep=1984 11:52:59 [ANALYZ.SRCIRMS3IDX.B32;1 (6)
. 376 0879 3

; %;g 8%3? % : Format the VBN address sample.

: ggg 83%% g anlS$tormat_Line(0,.indent_Level+1 anlrmsS_bktsample,.splbktSw_adrsamplel);

; gg% 8332 % . Now the next available record JD.

: %gz 8%8? g anl$tormat_Line(0,.indent_Levelesl ,anlrms$ _bktrecid3,.splbktSw_nxtrecidl);

;385 0888 3 ! Now the next bucket VBN.

. 386 0889 3

: %gg 833? g anl$tormat_Line(0,.indent_Level+l,anlrms$_bktnext,.sp(dkt$l _nxtbkt]);

Po389 08% 3 ' Finally, the flags.

. 390 089% 3

; gg} 8%3? 3 ) anlStformat_flags(.indent_Level*l, anlrmsS_bktflags,.splbktSb_bktcbl,control_tlags_def);
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! Now we are going to check those items which ug formatted above. Thne rest

. 0t the bucket reader (and trailer, if prolog 3) were probably left alone
. when the bucket was reciaimed, but we don't care.

. Make sure the check byte is present in the Last byte of the bucket.

it .sp(bktSb_checkchar) nequ ch$rchar(.blbsdSl endptrl=1) then
ant$Format_error(anirms$_badbktcheck, . b[bsd$L_vbnd);

' (heck the bucket address sample.

it .splbktSw_adrsample] nequ (.b[bsd$L_vbnl and X¥x'0000tfff') then
anl$Tormat_error(anirms$_badbkEsample, . .blbsd$l_vbdnl);

: We can't check anything else in the header because we don't know what's
* lett over ftrom the original bucket.

statistics_callback(

. It we are accumulating statistics, then we have to call the
' bucket callback routine so it can tally the bucket.

LASTAN T N L NI N1 ST N N1 ST NS VLS VLN NI VNIV V] ¥

anl$reclaimed_bucket_callback(.blbsdSw_sizel);

2
S

Ve.0=742
3iDx.B832;1
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Analyze Things for Prolog 3 Indexed f 1;-599-1984 23:

6 VAX=11 Bliss=32 v&.0=742
9 [ANALYZ.SRCIRMS3IDX.B32:1

RMS3IDX RMS3]IDX = 56:4
v04-000 ANLSSRECLAIMED BUCKET_HEADER = Check & Format R T14-Sep=1984 11:52:5
;419 0920 2 ! It this is not the Last bucket in this chain, then Let's update the
; :g? 83%1 ¢ ! BSD to describe the next one. Otherwise forget it.

. 422 092% % it not .splbktSv_Llastbkt] then (

. 623 0926 3 blbsd$l_vbn] = .splbktSi_nxtbkt];

i 624 0925 3 antSbucket(d,0):

;625 0926 3 return true;

;. &26 0927 2 ) else

s 627 0928 ¢ return false:

: 428 0929 2

;429 0930 1 end;

PSECT SPLITS,NOWRT,NOEXE,2
56 4B 42 54 53 41 4C SF 56 24 54 4B 42 0D O0O0C2A P.AAD: ASCIi <13>\BKTSV_LASTBKT\
PSECT SOWNS,NOEXE,?
00000000 00C14 courn0L_rLagg_o£6:
.L
00000000* (0018 .ADDRESS P.AAD
.PSECT $CODES,NOWRT,?2
003C 00000 .ENTRY a?L=2RECLAIHED_BUCKET_HEADER. Save R2,R3,
55 0000G CF 9€ 00002 MOVAB  ANLSFORMAT LINE, RS
52 04 AC DO 00007 MOVL THE BSD, RZ
53 0C A2 DO 00008 MOVL 12(R2), SP
74 08 AC E9 0000F BLBC REPORT, 1%
04 A2 DD 00013 PUSHL  4(R2)
000000006 8&F DD 00016 PUSHL  #ANLRMSS RECLAIMBKT
0C AC DD 0001C PUSHL  INDENT_LEVEL
03 0D 0001F PUSHL  #3
65 04 FB 00021 CALLS  #&, ANLSFORMAT_LINE
7E D4 00024 CLRL -(5P)
00006 CF 01 FB 00026 CALLS  #1, ANLSFORMAT_SKIP
7€ 63 9A 00028 MOVZBL (SP), =(SP)
000000006 8F DD 0002E PUSHL  #ANLRMSS BKTCHECK
54 0C AC 01 €1 00034 ADDL3  #1, INDERT_LEVEL, Ré
54 DD 00039 PUSHL R4
7E D4 00038 CLRL -(5P)
€5 04 FB 00030 CALLS ¥4, ANLSFORMAT_LINE
7€ 02 A3 3C 00040 MOVZIWL 2(SP), =(SP)
600000006 8F DD 00044 PUSHL  #ANLRMS$ BKTSAMPLE
5¢ DD 0004A PUSHL R4
TE D& 0004C CLRL -(SP)
65 04 FB 0004E CALLS  #4, ANLSFORMAT_LINE
7€ 06 A3 3C 00051 MOVZWL 6(SP), =(SP)
000000006 8F DD 00055 PUSHL  #ANLRMSS _BKTRECID3
5¢ DD 00058 PUSHL  R&
7€ D& 00050 CLRL -(SP)
65 04 FB 0005F CALLS  #4, ANLSFORMAT_LINE

Page
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v04-000 ANLSSRECLAIMED BUCKEI EADER - Check & Fformat R 14-Sep-1984 11:52:59 [ANALYZ.SRCIRMS3I Dx 8321 (8)
08 A3 DD 0006% PUSHL  B(SP) ; 0890

000000006 8F 0D 0006 PUSHL #ANLRMSS BKTNEXT :

5¢ 00 00068 PUSHL R& :

7t D& 0006D CLRL -(SP) :

65 04 FB 0006F CALLS  #4, ANLSFORMAT LINE :
0000*' CFf GF 00072 PUSHAB (ONTROL _FLAGS_DEF ; 0894

7E 00 A3 OA 00076 MOVZIBL 13(SP), =(SP)~ :

00000000G 8F DD 0007A PUSHL #ANLRMSS _BKTFLAGS :

S¢ DD 00080 PUSHL R4 :

00006 CF 04 fB 00082 CALLS  #4, ANLSFORMAT_FLAGS :
50 10 A2 DO 00087 1% MOvVL 16(R2) RO : 0902

FF AQ 63 91 00088 (MPB (SP), =1(R0) :

0E 13 0008f BEQL 23 .
04 A2 DD 00091 PUSHL &4 (R2) ; 0903

000000006 8F DD 00094 PUSHL #ANLRMSS BADBKT(CHECK :

0000G CF 02 €B 0009A CALLS  #2, ANLSFORMAT_ERROR :
04 A2 02 A3 B1 0009F 2% CMPW 2(5P), 4(R2) ; 0907

OE 13 Q00A4 BEQL 3¢ ;
04 A2 DD 000A6 PUSHL 4(R2) ; 0908

000000006 8F DD 000A9 PUSHL #ANLRMSS BADBKTSAMPLE :

0000G CF 02 FB 000AF CALLS  #2, ANLSFORMAT ERROR :
02 00006 CF 91 000B4 3%: (MPB ANLSGB_MODE, # ; 0919

07 13 00089 BEQL 43 :

04 00006 CF 91 00088 CMPB ANL$GB_MODE, #4 :

09 12 000CO BNEQ 5% :

7E 02 A2 3C 000Ce 4%: MOVZIWL 2(R2), =(SP) :

00006 CF 01 FB 000C6 CALLS  #1, ANLSRECLAIMED_BUCKET_CALLBACK :
12 0D A3 E8 000CB S5%: BLBS 13(SP), 6% : 0923
04 A2 08 A3 DO 000CF MOVL 8(SP), 4(R2) ; 0924
7€ D4 000D4 CLRL -(SP) : 0925

52 DD 000D6 PUSHL R2 :

00006 CF 02 FB 00008 CALLS  #2, ANLSBUCKET :
50 01 DO 009000 MOVL #1, RO : 0928

04 000E0 RET :

50 D& 000EY 6%: CLRL RO :
04 000€E3 RET : 0930

; Routine Size: 228 bytes, Routine Base: $(ODES + 022D
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RMS3IDX RMS3IDX - Anatgze Things for Prolog 3 Indexed f 1§-Sep-1984 23:56:46 VAX=-11 Bliss=32 v&.0-742 Page
v04-000 ANLSSINDEX_RECORD = format and Check an Index R 14-Sep-1984 11:52:59 CANALYZ2.SRCIRMS3IDX.B32;1

: 2%; 83%1 } ?sbttl "ANLS3INDEX_RECORD - fFormat and Check an Index Record'
M X 4
. L33 093§ 1 ! Functional Descriptioun: _
. 4346 0934 1! This routine is responsible for_formatting and checkirg the contents
: 2%2 83%2 } E of an index record (for prolog 3).
;637 0937 1 | Formal Parameters: . _
. 438 0938 1 ! rec_bsd Address of BSD describing index record. We update it
. 439 0939 1 to describe the next record. The work longword is
;440 0940 1! assumed to sgecnfy the number of the record.
Y 0961 1! key_bsd Address of B5D for key descriptor of this index,
Y. 0942 1! report A boolean, true if we are to format the record.
: 222 8322 } E indent_level Indentation (evel for the report.
D445 0945 1 ! Implicit Inputs:
: 229 8329 } ; global data
T 448 0948 1 | Implicit Qutputs:
: :gg gggg } ; global data
P 451 0951 1 ! Returned Value:
: 22% 832% } E True if there is another index record, false otherwise,
: 436 0984 1 | Side Effects:
D456 0956 1 i--
s 457 0957 1
; 458 0958 1 )
: 228 8328 % global routine anl$3index_record(rec_bsd,key_bsd,report,indent_Level) = begin
P461 0961 2 bind
. 462 0962 ¢ b = .rec_bsd: bsd,
: 222 8322 S k = .key_bsd: bsd;
D465 0965 2 local
;466 0966 2 sp: ref block(,byte],
;467 0967 2 hp: ref block[,byte],
A Y 0968 2 kp: ref block[,byte],
. 669 0969 2 vp: ref block[,byte],
: 2;? 88;? S key_length: long;
D472 0972 2 _ , o
;473 0973 2 ! We want to ensure that the key portion of the index record fits in the
474 0974 2 ! record free space. Begin by calculating the Length of the key, which
: 2;2 83;2 g ! depends on whether or not it's compressed.
D477 0977 2 hp = .blbsd$l_bufptr];
; 478 0978 2 sp = .blbsd$i_bufptr] + .b[bsd$l_offset];
R 2;8 83;3 g kp = .k[bsd$l_bufptrl ¢+ .k[bsd$l_offset];
P81 0981 3 key_length = (if .kp(key$v_idx_compr) then
: 22% 833% g . .spl0,0,8,0) ¢ ircSc_keycmpovh
; else
; 23? 8832 5 .kplkey$b_keysz));
: 229 8889 5 ! Make sure that the key fits in the record free space.

L]
D ]
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0988 3 it .blbsd$l offsetl+.key_Length gtru_.hp{bktSw_keyfrespc] then (
0989 3 anlSformat_errorTanlrms$ bad31dxkeyf1t blbs $L_vbnl);
0990 3 signal (anTrms$_unwind);
0991 2 );
0992 2
0993 2 ! Now we have to calculate the address of the corresponding VBN in the
8382 g ! VBN list.
0996 2 vp = (.bl(bsd$l_endptrl-4) - (.blbsd$l_workl+1) = (.hplbktSv_ptr_sz]+2);

32.1
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v04-000 ANLSSINDEX_RECORD = Format and Check an Index R 14-Sep=-1984 11:52:99 ANALYZ.SRCIRMS3IDX.B32;1 (10)
;. 498 0997 ! Now we can format the index record, if reguested.
. 499 0998 _
. 500 0999 if .report then (
. 501 1000 3 L . ,
: 28 }881 g ! Begin witn a nice heading.
. 504 100% % anl$format_L ne(3,.indent_Llevel,anlrms$_idxrec,.blbsdSl_vbnl,.blbsd$l _otfset));
. 505 1004 anl$format_<«ip(0);
. 506 1005 3
. 507 1006 3 ! Now the vBN.
;508 1007 3 . )
s 509 1008 3 anl$tormat_Line(Q,.indent_level+1,anlrms$_ioxrecptr,.hplbktSv_ptr_sz]+2,
. 510 1009 & (case .hptbkttv_gtr s2) from 0 to 2 of set
¢ N 1010 & [0): .vp(0,0716.0]:
. 512 1011 ¢ [1]: .vp(0,0,26,0];
. 913 1012 & [2]: .vp(0,0,32,0];
. 514 1013 3 tes));
;915 1014 3 ) _
;516 1015 3 ! And the key itself, in hex.
s 917 1016 3 . _
: 518 1017 3 anl$tormat_Line(0,,indent_level+1,anlrms$_idxkeybytes);
. 919 1018 3
. 520 1019 4 begin
. 32 1020 4 local )
%22 1021 & key_dsc: descriptor;
;523 1022 4
;5264 1023 & build_descriptor(key_dsc,.key_Length,.sp);
. 525 1024 & anl$format_hex(.indent_level+Z, key_dsc);
;526 1025 3 end;
. 527 1026 2 );
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2e Things for Prolog 3 Indexed f !
RD = format and (heck an [ndex R 1

+ 1t we are accumulating statistics
. index record callback routine, te
. record lLength, and crmpressed record

anl$index_callback(.hp[bktSb_level],
kplkey$Sb_keysz] ¢+ .hplbktSv_ptr_szle2,
.key_Length + _hp[bktSv_ptr_s2]+2);

! Now we can advance to the next index record.
; ggg. then just return without modifying the BSD.
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then we have to call the
1t the level, nominal
ngth,

[t there isn't another

Otherwise update the

JENTRY

MOVAB
SUBL?
MOVL
MOVL
MOVL
ADDL 3
ADDL3
BB(

MOvVZBL

ADDL 2
BRB

MOVZBL

ADDL3
(MP2V
BGEQU
PUSHL
PUSHL
CALLS
PUSHL
CALLS
ADDL 3
EXT2V
ROVAB
mULLZ
SUBL 3
suB. 2
BLB.

Don't forget to increment the record number in the work longword.

it .bl(bsd$l_oftset)e.key_Lenyth Lssu .hp{bktSw _keyfrespc] then (
blbsd$i_offsetl = .blbsd$i_ottset] + .Key_length:
increment (blbsd$i_work]);
return true;

ANLS3INDEX RECORD, Save R2,R3,R4, RS, RS,R7, -

R8,R9,R10,R11
ANLSFORMAT _LINE, R11
#8, SP

REC_BSD, R3

KEY BSD, RO

R3). WP

3 12(R3), SP

0 12(RQ), kP

DD~

« O
g

_LENGTH

), KEY LENGTH
kEYy CENGTH, RO
20, #f6, «THP), RS

4(RY)

#ANLRMSS BAD3IDXKEYF]T
#2, ANLSFORMAT ERROR
FANLRMSS UNWIND

21, LIBSSIGNAL

21, 20(R3), RO

23, 82, 13(WP), R4
2(R4), RB

R8. RO

RO, 16(R3), R?

804, VP

REPORT, 9%

SO~~~

-~ 0

wROooron) g ~ OO0 —
e

D~

X

YAX=11 Bliss=32 v&.0=747
9 [ANALYZ . SRCIRMS3IDX.B32;
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ANLSSINDEX_RECORD - Format and (heck an [ndex R 14-Sep=-19864 11:52:59 CANALYZ SRCIRMS3IDX.B3Z;1 (1)
3 04 A% 7D 0079 MOVQ «(RY), =(SP) : 1003
000000006 8F DD 007D PUSHL  WAN_RMSS [DXRE( :
10 AC DD 00083 PUSHL  INDENT_LEVEL ;
0% DD Q0086 PUSHL @3 .
;] 05 8 00088 CALLS  #S, ANLSFORMAT L INE :
7€ D4 00088 (LRL -(SP) ; 1004
00006 (F 01 B Q008D CALLS  #1, ANLSFORMAT Sk]|P :
02 00 5¢ C(F 00092 CASEL R4, #(C, #? : 1009
0012 0008 0006 00096 4%: WORD  58-4%,- :
6‘-‘0‘-- .
73=-49% .
143 62 3C 0009C S%: MOVIWL (VP), ={SP) : 1010
09 11 0009F BRB 8% :
14 62 18 00 EF Q00AY 68: EXTIV  #0, #24, (VP), =(SP) ; 10MY
02 11 000A6 8RB 8% :
62 DD 000A8 7%: PUSHL (VP) : 1012
58 DD 000AA 8%: PUSHL R8 ; 1008
000000006 8F DD O0OO0AC PUSH #ANLRMSS IDXRE(CPTR :
52 10 AC 01 €1 00082 ADDL #1, INDERT_LEVEL, R2 :
52 0D 00087 PUSHL  R? .
7€ D& 000B9 CLRL -(SP) .
68 05 ¢8 00088 CALLS  #5, ANLSFORMAT [ iNE :
000000006 8F 0D QOOBE PUSHL  #ANLRMSS_JDXKEVBYTES : 1017
52 DD 000C& PUSHL R?2 :
7E 04 000C6 CLRL «(SP) :
68 03 FB 000C8 CALLS #3, ANLSFORMAT | INE H
6 56 00 000CB MOVL KEY_LENGTH, XEV_DSC : 1023
04 AE 5A DO 0O0OCE MOVL SP, KEY_DSC+4 :
SE DD 000D2 PUSHL  SP : 1024
7¢ 10 AC( 02 (€1 000D4 ADDLS  #2, INDENT LEVEL, =(SP) :
00006 (CF 02 ¢B 00009 CALLS  #2, ANLSFCRMAT HEX :
02 0000G C(f 91 O00DE 9$%: CMPB ANLSGB_%ODE, #2 : 1036
07 13 000€3 BEQL 10$ :
04 00006 CF 91 Q00ES (MPB ANLSGB_MODE, #¢ :
15 12 000€EA BNEQ 118 :
02 A446 9F Q00EC 10%: PUSHAB 2(R&)(KEY_LENGTH] :
50 14 A7 9A 000F0 MOvZBL 20(xP), RO :
02 A44L0 9F 000F4& PUSHAB 2(R4&)[RO] :
7€ 0C AS 9A 000f8 MOVIBL 12(WP), =(SP) :
00006 CF 03 FB Q0O0F( CALLS  #3, ANLSINDEX CALLBACK :
59 04 AS 10 00 €D 00101 11%: (MPZV  #0, 16, &(MPY, RO : 1042
0B 18 00107 BLEGy 12§ :
08 A3 56 (0 00109 ADDL2  KEY _LENGTH, B(R3) : 1043
16 A3 D6 00100 INCL 20(R3) : 1044
50 01 00 00110 MOVL #1, RO : 1047
04 00113 RE?Y :
S0 D& 00116 128%: CLRL RO :
04 00116 RET s 1049

: Routine Size: 279 bytes, Routine Base: $(ODES + 03N
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v04=-000 ANLSSPRIMARY DATA _RECORD = Format and (heck a P 14=-Sep=-1984 11:52:59 (ANALYZ SRCIRMSSIDX.B32;1
: ggz }82? } Tsbttl "ANLS3PRIMARY _DATA_RECORD = Format and (heck a Primary Data Record’
. ‘oo
. 998 105§ 1 ! Functional Description: . ,
. 9% 1093 1! This routine is responsible for formatting and gheck1r? the conzents
;557 1056 1! ot a primary data record tor prolog 3 indexed files. his does not
;. 958 108 1 include formatting of the data by:es themselves.
. 959 10%¢ 1
. 960 1057 1 ! Formal Parameters: _ _
. 561 1058 1 . rec_bsd Address of BSD describing data record. It is updatcd
. 962 1059 1 ! to describe the next record. X
. 963 1060 1! key_bsd Address of BSD tor key descriptor ot this index,
;564 1061 1! report A boolean, true it we are to print a report.
;965 106¢ 1! indent _level The indentation level for the report.
. 966 1063 1! _
. 967 ‘066 1 ! Implicit |nputs:
T 9568 1065 1 ¢ global data
. 369 1066
. 570 1067 1 ¢ Implicit OQutputs:
. N 1068 1 ! global data
. 912 1069 1 ¢
. 571% 1070 1 . Returned value:
. 974 1077 1 | True it there is another record, false otherwise.
;575 1072 1!
;5§76 1073 1 ! Side Eftects:
. 1076 1 !
. 578 1075 1 !--
. 579 1076
; 9580 1077 1
: gg} }8;8 g globat routine anl$3primary_data_record(rec_bsd,key_bsd,report,indent_Level) = begin
. 9583 1080 ¢ bind
. 584 1081 2 b = .rec_bsd: bsd,
: 985 1082 2 k = .key_bsd: bsd,
. 986 1083 2
. 587 1084 2 own o
. 588 1085 2 data_tlags_def: vector[8,long] initiat(

589 1086 2 6,
;59 1087 2 .
i 90 1088 ¢ 0. . .
. 992 1089 2 uplit byte (Zascic 'IRCSV_DELETED®),
. 993 1090 2 uplit dbyte (Zascic 'IRCSV_RRV'),
. 994 1091 2 uplit byte (Zascic 'IRCSV_NOPTRSI'),
. 995 1092 2 uplit byte (Zascic "IR(SV_RU_DELETE'),
. 996 1093 2 uplit byte (Zascic 'JRCSV_RU_UPDATE')
. 597 1096 2 ),
. 9598 1095 2
;9599 1096 2 local
: 600 1097 2 hp: ref block[,byte],
;60 1098 2 rp: ref block[.byte],
. 602 1099 2 kp: ret block(,bytel,
. 603 1100 2 overall_dsc: descriptor,
. 604 1100 2 key_dsc: descriptor,
;. 605 1102 2 data_dsc: descriptor;
. 606 1103 2
. 607 1106 2 i )
. 608 1105 2 ! we need to ensure that the data record fits in the used space of the
. 609 1106 2 ! bucket. Begin by making sure that the tirst byte fits,
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v04-000 AN_SSPRIMARY D TA_RECORD « Format and (heck a P 14-Sep=-1984 11:5¢:5 ANALYZ.SR( RMS3IDX. 832 (12)
. 610 107
. 61 1108 rp = .blbsd$i_butptr];
; 61% 1109
;6 110 1¢ .b(bsd$l _ottset] gequ .hplbktSw_treespace] then (
;. 614 1" anl$tormat error(antrmsi baddatarectit,.b{bsdsl_vbdnl);
. 615 111; 3 signal (anTrms$_unwina);
. 616 IR R 2}
. 617 116 2
: 618 1115 2 ! Set up a descriptcer of the overall data record, the key, and the data
. 619 1116 2 ! bytes.
. 620 1117 2
: g%} :}}3 g calculate_data_record_info(b,k,overall_dsc.key_dsc.data_dst).
: 252 }}%Q % ' Now we can ensure that the entire record fits in the unused space,
. 625 1122 3 it .blbsdst _ottsetl+.overall_dscl(len] gtru .hp[bktSw_freespacel then (
;. 626 1123 3 anlStormat error(anlrmss badda arecf1t..b[bsa$l vbnl);
: 25; }}Sg 3 signal (anTrms$_unwind);
. )o
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;. 630 1126 2 ! Now we can format the record, if requested. This does not include the
;0 69 1127 2 ! actual data bytes.
. 632 1128 2
. 633 11;9 2 rp = .overall_dsclptrl;
. 634 1130 2 kp = .k(bsd$l_butptr] + .k[bsd$i_oftset];
: 635 1131 2
. 636 113% 3 it .report then (
. 637 1133 3
. 638 1134 3 . Start with a nice heading.
. 639 1135 3
;. 640 1136 3 anl$tormat_Line(3,.indent_Level anlrms$_idxprimrec,.b[bsd$l_vbnl,.blbsd$l _ottset));
;641 1137 3 anl$tormat skip(0);
. 6672 1138 3
. 643 139 3 ! Now the control flags.
s 644 1140 3
; gzz }}2} g anl$tormat_tlags(.indent_Level+1,anlrms$_idxprimrectlags,.rplirc$b_control),data_tlags_det);
647 1143 3 ! Now the record ID.
: 648 1166 3
; ggg }122 % anlSformat_Line(0,.indent_level+l, anlrms$_idxprimrecid,.rplircSw_idl);
. 651 11467 3 ! Now the RRV, both record ID and bucket pointer, if present.
;. 652 1148 3
;. 653 1149 3 it not .rplircSv_noptrsz] then
: 654 1150 3 anl$tormat_Line(0,.indent_Level+1,anlrms$ idxprimrecrry,
;. 655 1151 3 .rplircSw rev_idl,.rplircSv_ptrsz)+?,
: 656 115% 4 (case rplirc8v_ trszJ from™0 to 2 of set
: 657 1153 & 0): .rpl5.0516.0]:;
. 658 1156 & (1): rp(5.0.24.03;
: 659 1155 & [2): .rpl5,0,32,0];
: 660 1156 3 tes)):
: 661 1157 3 _ _
s 662 1158 3 . And the key itselt, in hex. It may not exist,
;. 663 1159 §
;. 664 1160 4 it not .rplircSv_rrv] then (
;. 665 161 4§ anl$tormat_Line(0,,indent_Level*1,anlrms$_idxkeybytes);
;s 666 1162 & anlSformat_hex(, indent _level+?, key dsc).;
;. 667 1163 3 );
: 668 1164 2 );
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. Now we can actually check the integrity of this data record. Most of
- the checking has been done, since 1t involved the fit of the record
! in the bucket. However, we have a few more things to do.

' (heck the control flags. Don't get confused by the pointer size.
anlScheck_tlags(.blbsd$t _vbnl,.rplircSb_control] and ¥x'fc',data_flags_def);
! We don't check the VF( header size since the record might be compressed.
it not .rplircSv_rrv] and not .rplircSv_deleted] then statistics_callback(

! 1t we are accumulating statistics, then we need to call the
! statistics caliback routine for data records. [t wants the
! nominal record Length, compressed key length, and compressed
! data length,

local
sp: ref block[.b(te].
nominal _Length: long;

! 1t the data is compressed, we have to determine its nominal
! length by scanning it. The data record is composed of triplets
! of the form (fragment-length, fragment compression=count).

if .kplkeySv_rec_compr] then (
sp = .data_dsclptrl;
nominal_Llength = 0;

while .sp lssa .data_dsclptrle.data_dsc(len] do (
nominal_Llength = .nominal_Length ¢ .sp[0,0,16,0];
sp = .sp + 2+.5p[0,0,16,07;
nominal_length = .nominal_length ¢+ .sp(0,0,8,0];
increment (sp);
):
);

anl$data_caliback(.kplkey$3b_keysz] ¢
.key_dscllen

.data_dscllenl,
0);

S
LX)

! Now we want to advance to the next data record. It there is room in
' the bucket for another, then update the BSD. Otherwise don't touch it,

it .blbsd$l_otfsetle.overail _dsc(len) tssy .hp(bktSw freeSface] then (
b{bsd$l_otfset) = .bTbsd$i_ottset) ¢ .overall _dscllen];
return frue;

return false;
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. p—
w
L ]

32
ms3

V4.0-742

10x.832;1

(it .kg[keytv_rec_compr] then .nominal_length else .data_dscllen]),

Page 29
9 (14)
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v04=000 ANLS 3PRIMARY p TA_RECORD = Format gnd Chec: a P 14-Sep=-1084 11:52:59 [ANALYZ.SRCIRMS3IDX.B32; 1 age(lk)
PSECT SPLITS NOWRT NOEXE,?2

Q6 &5 54 &S L( 4S5 46 SF S6 26 43 52 49 QD 00038 P.AAE: .ASCI] <13>\IRCSV DELETED\ :

56 52 52 SF S6 24 43 52 49 09 00046 P.AAF LASCIT  <9>\IRCSV RRV\ :

SA S3 52 S4 SO &F 4LE SF 56 24 43 Ss 49 0D 00050 P.AAG: .ASCII <13>\[RC$V_NOPTRSZ\ R

9¢ &5 &0 4S5 44 SF 5SS 52 SF 56 264 43 52 49 22 88825 P.AAM: . ASCII <15>\]RCSV_RU_DELETE\ R

S6 41 &6 SO 5SS SF S5 52 SF S6 24 43 52 49 2§ 88895 P.AAL:  LASCII <1S5>\IRCSV_RU_UPDATE\ :

.PSECT $OWNS ,NOEXE,2
00000000 00000000 00000006 000YC DATA_FLAGS DEF:

.LONG 6 0, 0 :
00000000°* 00000000°* 00000000° 00000000* 00000000°* 00028 .ADDRESS P.AAE, P.AAF, P.AAG, P.AAH, P.AA] :

.PSECT S$CODES ,NOWRT,?2

OFFC 00000 .ENTRY ANLS3PRIMARY DATA RECORD, Save R2,R3,R& ,RS,=; 1078
R6,R7 ,R8,R9,R10.RT1 ;
58 000000006 8fF DO 00002 MOVL NANLRMSS BADDAYARECFII R :
SA 00006 CF 9€ 00009 MOVAB  ANLSFORMAT _LINE, R10 :
59 000000006 00 9€ 0000€E MOVAB LIB$SIGNAL, R9 :
58 000000006 8F DO 00015 MOVL tANLRnSS UNUlND R8 :
SE 18 €2 0001C SUBLZ  #24, :
53 04 AC 7D 0001Ff MOVQ REC eso R3 : 1081
56 0C A3 DO 00023 MOVL 12(R3), WP : 1108
08 Al 06 A6 10 00 ED 00027 CMPZv 40, #16, 4(HP), B(R3) : 1110
OF 1A 0002E BGTRU 1% :
06 A5 DD 00030 PUSHL  4(R3) s 1M
S8 DD 00033 PUSHL R :
00006 CF 02 FB 00035 CALLS  #2, ANLSFORMAT_ERROR :
58 0D 0003A PUSHL RS : 1112
69 01 f8 0003C CALLS  #1, LIBSSIGNAL :
SE DD 0003F 1%: PUSHL  SP : 1118
0C AE 9F 00041 PUSHAB KEY DSC :
18 AE  9F 00044 PUSHAB OVERALL DSC :
18 B8 00047 PUSHR  #*“M<R3,Ré4> :
0000v CF 05 €8 00049 CALLS  #5, CALCULATE_DATA_RECORD_INFO :
57 10  AE  3C 0004E MOVIWL OVERALL DSC. R7 : 122
57 08 A3 (0 00052 ADDL? 8(RY), R? :
57 06 A6 10 00 ED 00056 cMPIv  #0, af6, 4(nP), R7 :
OF 1€ 0005¢C BGEQU 2% :
0¢ A3 DD 000SE PUSHL  4(R3) : 1123
58 DD 00061 PUSHL R11 R
00006 CF 02 FB 00063 CALLS  #2, ANLSFORMAT_ERROR :
58 DD 00068 . PUSHL RS : 1124
69 01 FB 0006A CALLS  #1, LIBSSIGNAL :
52 14 AE DO 0006D 2%: MOVL OVERALL _DSC+4, RP : 1129
55 0C A& 08 A& (1 00071 ADDL3  8(R&), T2(R&), KP ;1130
03 0C AC E8 00077 BLBS REPORT, 3$ AR ALY
009 31 00078 BRW 10% :
7E 04 A3 7D QO07E 3%: MovaQ 4(R3), -(SP) ;1136
000000006 8F DD 00082 PUSHL  #ANLRMSS IDXPRIMREC :
10 AC DD 00088 PUSHL  INDENT_LEVEL :
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S
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R
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USHL
ALLS
L
CALLS
PUSHAB
MovZBL
PUSH
ADDL
PUSHL
CALLS
MOV ZWL
PUSHL
PUSHL
CLRL
CALLS
88S
EXTV
CASEL
.WORD

rx

MOVZWL
8RB
EXT2V
8R8
PUSHL
EXT2V
ADDL 2
MOVZWL
PUSHL
PUSHL
CLRL
CALLS
BBS
PUSHL
PUSHL
CLRL
CALLS
PUSHAB
ADDL 3
CALLS
PUSHAB
MOVZBL
BICLS
PUSHL
CALLS
8BS
BBS
(MPB
BEQL
(MPB
BNEQ
1S18
BGEQ
MOVL
CLRL
MOVZWL

VAX=11 Bliss=3
[ANALYZ.SRCIRM

. ANLSFORMAT L INE
SP)

. ANLSFORMAT SKIP
DATA_FLAGS DEF~

(RP); =(SPY

#ANLRMSS [DXPRIMRECFLAGS
11 INDERT _LEVEL, R&

04 ANLSFORMAT _FLAGS

1(RP) -(SP)
:2NLRHS$ IDXPRIMRECID
=(SP)

84, ANLSFORMAT_L INE
#s, (RP), 9%

80, #2, (RP) RO

RO. '0, [ P4

S"“c-

68-4%,~

78-49%

S(RP), =(SP)

8s

#0, #24, S(RP), =(SP)
8s

5 (RP)

#0, #2, (RP), =(SP)
k2, (SP)

3(RP), =(SP)
::NLRHSS IDXPRIMRE CRRY
-(SP)

86, ANLSFORMAT_LINE
#3. (RP), 10% -
::NLnnss IDXKEYBYTES
-(SP)

#3, ANLSFORMAT_LINE
KEY_DSC

#2. INDENT LEVEL, -(SP)
#2, ANLSFORMAT HEX
DATA_FLAGS_DEF™

(RP)- RO

2;253 RO, =(SP)

#3, ANLSCHECK FLAGS
#3° (RP), 158"

#2. (RP). 15%
?7ksea_noof. 'Y,

ANLSGB_MODE, #4
15%

16 (KP)

13

DATA DSCe4, SP
NOMIRAL "LENGTH
DATA_DST, Ré

2 Vb6 .0=-742
S3IDx.B32:1
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v06-000C ANLS3PRIMARY DATA _RECORD = Format and (heck a P 14-Sep=-1984 11:52:59 [ANALYZ.SRCIRMS3IDX.B32; 1 (14)
54 04 AE (0 00157 ADDL2 DATA DSC{*4, Ré ;
5S4 51 D1 00158 12% (MPL SP, R4 :
13 1€ 0015E Boeou 13§ :
52 61 3C 00160 MOvIWL (SP), R? ;
50 52 (0 00163 ADDLZ2 R2, NOMINAL LENGTH :
51 02 A241 9E 00166 MOVAB  2(R2)[SP], 8P :
52 81 O9A Q0168 MOVIBL (SP)+, R2 :
50 52 (0 0016E ADDL2  R2, NOMINAL _LENGTH :
€8 11 00171 BRB 124 :
7€ D& 00173 13%: CLRL -(SP) :
7€ 04 AE  3C 00175 MOVZIWL DATA DSC, =(SP) :
7t 10 AE  3C 00179 MOvIWwL KEY BSC, =(SP) .
51 16 A5 9A 00170 MOov2BL 20(RP), R} :
10 A5 95 00181 TSTB  16(KP) :
04 19 00184 BLSS 14% :
50 ¢ AE 3C 00186 MOVIWL DATA DSC. RO :
6041  9F Q018A 148: PUSHAB (RO)TR1) 3
00006 ./ 04 B 0018D CALLS  #4&, ANLSDATA CALLBACK :
S7 04 A6 10 00 ED 00192 15%: CMPZV  #0, #16, 4(HP), R7 : 1212
0C 1B 00198 BLEQU 168 :
50 10 A€  3C OC19A MOVIWL OVERALL DSC, RO : 1213
08 A3 SO0 (0 0019¢ ADDL2 RO, 8(RY) :
50 01 DO Q01A2 MOvVL #1, RO : 1216
04 Q01AS RET :
50 D& 001A6 16%: CLRL RO :
04 001A8 RET : 1218

: Routine Size: 425 bytes, Routine Base: SCODES + 0428
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v04-000 ANLS3FORMAT _DATA _BYTES = Format Actual Primary 14-Sep-1984 11:52:59 CANALYZ .SRCIRMS3IDX.B3Z;1 (15)
; ;gg }%%8 } ?sbttl "ANLS3FORMAT _DATA_BYTES - Format Actual Primary Record Data Bytes'
. e
. 127 1221 1 ! Functional Description: . '
. 728 1222 1! This routine is responsible for fornatt1n$_the actual data bytes
. 729 1223 1! in a primary record for prolog 3 indexed tiles. Unlike prolog 2,
R ;%? }%%g } ; this is a separate routine because it's a bit messy,
. 732 1226 1 ! Formal Parameters: ) ]
;. 733 1227 1! indent_level The indentation Level for the report.
s 736 1228 1! rec_bsd BSD describing COMPLETE primary recorc.
. 735 1229 1! key_bsd BSD for key descriptor for primary index.
;s 736 1230 1! _
. 137 1231 1 ! Implicit Inputs:
; 1738 1232 1! global data
;739 1233 1! )
s 7640 1236 1 ! Implicit Outputs:
D761 1235 1 | global data
762 1236 1!
;o 763 1237 1 ! Returned Value:
;144 1238 1 None
;. T4S 1239 1!
;146 1260 1 ! Side Effects:
;767 1261 1!
: 748 12642 1 !=--
;749 12643 1
;750 1264 1 .
: ;25 }gzg % global routine anl$3format_data_bytes(indent_level,rec_bsd. key_bsd): novalue = begin
s 753 1247 2 bind
;754 1248 2 b = .rec_bsd: bsd,
;755 1249 2 k = .key_bsd: bsd;
: 756 1250 2
;757 1251 2 local
. 758 1252 2 rp: ref block(,bytel,
. 159 1253 2 overall_dsc: descriptor,
: 760 1254 2 key_dsc: descriptor,
;761 1255 2 data_dsc: descriptor;
;. 76¢ 1256 2
: 763 1257 ¢
: 764 1258 2 ! Set up a pointer to the record,
; 765 1259 2
: ;g? }gg? s rp = .blbsd$l_bufptr] + .b(bsd$l _offset];
; 768 1262 2 ! Set up descriptors for the overall data record, the key, and the data
R ;98 }%gz 5 ! bytes. We only care about the data bytes.
: ;;} }sgg 5 calculate_data_record_info(b,k,overall_dsc,key_dsc,data_dsc);
: 773 1267 2 ! 1t there zny data bytes, then format them in hex. Otherwise tell the user
; 174 1268 2 ! there is no data.
;775 1269 2
;776 1270 2 it .data_dsc[len] nequ 0 then
17 1271 2 anl$format_hex(.indent_ievel,data_dsc)
; 778 1272 2 else .
;779 1273 2 signal (anlrms$_nodata);
; 780 1276 2
. 781 1275 2 return;
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v04-000 ANLS3FORMAT _DATA BYTES Format Actual Primary 14-Sep=-1984 11:52:59 [ANALY? .SRCIRMS3IDX.B32;1 (15)
: 78 1276 2

. 78 1277 1 end;

0000 00000 .ENTRY ANLS3FORMAT_DATA_BYTES, Save nothing ;1245
SE 18 (2 00002 SUBL2  #24, :
50 08 AC DO 00005 MOVL REC _8SD, RO : 1248
51 0C A0 08 A0 (1 00009 ADDL 3 s<n0>, 12(no>, RP P 1260
SE DD Q000F PUSHL SP ; 1265
0C AE 9F 00011 PUSHAB KEY DSC :
18 AE 9F 00014 PUSHAB OVERALL_DSC ;
0C AC DD 00017 PUSHL  KEY_B8SD" :
50 DD 0001A PUSHL RO ~ :
0000V CF 0S5 FB 0001¢C CALLS #5, CALC LATE_DATA_RELORD_INFO :
6 B85 00021 TSTW DATA_DSC : 1270
08 13 00023 BEQL 1% :
SE DD 00025 PUSHL SP ;12N
04 AC DD 00027 PUSHL  INDENT LEVEL H
N000G C(F 02 f8 CO02A CALLS  #2, ANCSFORMAT_HEX :
04 0002F RET :
000000006 8F DD 00030 1%: PUSHL #ANLRMSS NODATA ;1273
000000006 Q0 01 fB 00036 CALLS #1, LIBSSIGNAL :
04 0003D RET s 1277

; Routine Size: 62 bytes, Poutine Base: $CODES + 05D1



rp: ref block{,bytel.
kp: ref block[.bytel,
sp: ret block(,bytel,
bits: long;
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v04-000 ALCULATE _DATA_RECORD_INFOD 164-Sep=-1984 11:52:59 CANALYZ.SRCIRMS3IDX.B32;1 (16)
; ;gg }sbttl *CALCULATE _DATA_RECORD_INFO'
: 14¢
. 187 : Description: This routine 1s called to calculate the lengths of the various
. 788 ! tort1ons of a primary data record: the overall length, the
. 789 ! ey length, and the data bytes length. This is a comp(ex
: ;g? ; process, particularly with the advent of recovery units.
. 792 ! Parameters: rec_bsd By reference, the BSD for the data record.
. 793 ! key_bsd By reference, the BSD for the key. .
o 796 ! overali _dsc By reference, a descriptor to be filled in
s 795 : with a description ot the overall record.
;. 796 : key_dsc By reference, a descriptor to be filled in
. 797 ! with a description of the key. ) )
. 798 ! data_dsc By reference, a descriptor to be filled in
: ggg ; with a description of the data bytes,
. 801 ! Returns: Nothing.
. 80¢ !
. 803 ! Notes:
. 804 o=
. 805 )
. 806 GLOBAL ROUTINE calculate_data_record_info(rec _bsd: ref bsd,
. 807 key_bsd: ref bsd, ]
. 808 overall_dsc: ref descriptor,
. 809 key _dsc: ref descriptor,
. 810 data_dsc: ref descriptor) : novalue
: = BEGIN
: local

! Set up pointers to the primary data record and the key descriptor.

rp = .rec_bsdlbsd$l_bufptr] + .rec_bsdlbsd$l_offset];
kp = .key_bsd(bsd$l_bufptr] ¢+ .key_bsdlbsd$l _offset];
The format of a primary data record depends upon the following five things:

variable-length record
key compression enabled
data compression enabled
data bytes have been deleted
record update in a recovery unit .
Set up a 5-bit integer specifying the states of these items.

bits = ((.anl$gl_tatltat$v_rtypel nequ fatSc_fixed) * 4) +
(.kp(keySv_key_compr] * 3) +
(.kp[key$Sv_rec_comprl * 2) +
(.rplircSv_deletedl * 1) ¢+
.rplirc$v_ru_updatel;

¢ Fill in the overall descriptor with the address of the record and the
! length of the overhead portion.
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v04-000 CALCULATE _DATA_RECORD _INFO 14-Sep=-1984 11:52:59 CANALYZ.SRCIRMS3IDX.B32;1 (16)
. B¢ 1335 2
;86 1336 2 overall _dsclptr) = .rp;
. 8446 1337 2 overall_dscllen] = 1 ¢
;84S 1338 2 2 ¢
. 846 1339 3 (it .rplircSv_noptrsz] then 0 _else
. 847 1340 & (case .rplircSv_ptrsz] from 0 to 3 of set
; 848 1361 & (0): &;
;. 849 1342 & (1]: 5:
. 850 13643 & {2]: 6;
. 8N 1364 S (3): (anl$format_error(anlrms$_baddatarecps,.rec_bsdl(bsd$l_vbnl);
;. 8952 1365 & signal (anlrms$_unwind););
. 853 1346 4 tes)
. 854 1367 2 ):
. 855 1348 2
: 229 }%gg % ! Set up a pointer to the portion of the record following the overhead.
. 858 1351 2 sp = .rp + .overall_dsc(len];
. 859 1352 2
. 860 1353 2 ! (lear the key and data byte descriptors under the assumption that these
;  86) 1254 2 ! portions of the record do not exist.
. 862 1355 2
: 863 1356 2 key_dsc{len] = data_dscllen] = 0;
. 864 1357 2
. 865 1358 2 ! If this record is not an RRV, then we need to analyze the key and data
. 866 1559 2 ! portions. (ase on the bits we set up to determine the format of these
: ggg }gg? 5 ! portions, and fill in the overall, key, and data byte descriptors.
;. 869 1362 2 it not .rplircSv_rrv] then
: 870 1363 2 case .bits from 0 to 31 of set
;. 8N 1366 2
: 872 1365 2 [Xb'00000°"
. 873 1366 3 Xb'00001*5: (overall_dscllen] = .overall_dscllen] + .anlSgl_fat(fatSw_maxrec];
. 874 1367 3 key_dsc({Ten) = .kplkey$b_keysz];
: 875 1368 3 key_dsclptr] = .sp;
;. 876 1369 3 data_dscllen] = .anl8gl_fat(fat$Sw_maxrec] - .key_dscllen];
; g;g }%;? g data_dsclptr) = .sp + .Key_dscllenl;);
; 879 1372 3 (Xb'00010°'1]: (overall _dscllen) = .overall_dscllen] ¢+ .kp[key$b_keysz];
;. 880 1373 3 key_dsc(Ten) = .kplkey$b_keysz];
. 881 13724 2 key_dsclptr) = .sp;);
; 882 1375 2
: 883 1376 2 [(Xb'00100°,
; 884 1377 2 xb'00110°,
: 885 1378 2 Xb'10000°,
: 886 1379 2 Xb'10010°,
; 887 1380 2 Xb*'10100' .
: 888 1381 3 1°10110'3:  (overall_dscllen] = .overall_dscllen] + 2+.5p[0,0,16,03;
. 889 1382 3 key_dsc(len] = .kp[kegtb_keysz]:
: 890 1383 3 key_dsclptr] = .sp ¢+ ¢;
;. 891 1384 3 data_dscllen] = .spl0,0.16,0] - .ke{_dsc[len];
. 892 1385 2 data_dsclptr]) = .sp + 2 + _key_dscllen]););
. 893 1386 2
;. 894 1387 2 (Xb'00101°,
;. 895 1388 2 Xb*10001° )
: 896 1389 3 $6*10101'3:  (bind
;. 897 1390 3 real_length = ,sp ¢+ .sp(0,0,16,0]): word;
. 898 1391 3
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;. 899 139% 2 overall dscgten] .overall dscl{len] ¢ 2+, sp(0.0.16,0];
. 900 1393 3 key_dscllen] = .kplkey$Sb _keysz];
;901 1394 3 key dsclptr] = .sp ¢ 5
i 902 1395 3 data_dsc len] = .real_length - dscllenl;
: 9C3 1396 2 data_dsclptr] = .sp ¢72 + .key_ dsc Tenl;):
;904 1397 2
;905 1398 2 [(X6°01000°,
;. 906 1399 2 Ib°'01010°,
;907 1400 2 I6'01100°,
;. 908 16401 2 Xb'01110°,
;909 1402 2 1611000,
;. 910 1403 2 Xb'11010°,
FE* AR 16404 2 Xb'11100°
;912 1405 3 111103 (overall _dscllen] = ,overall_dscllen] ¢ 20 s [0 0.16,0]1;
s 913 1606 3 key_ dsc[ten] = ircse _keycmpovh ¢+ ,sp(2,0,8,0
. 914 1407 3 key_ dsc[e = .sp * 2;
P 915 1608 3 data_dscllen] = .sp(0,0.16.0] - ey ds dsc[len]
916 1409 2 data_dsclptr] = .sp ¢ 2 ¢ .key_ dsc en
917 16410 2
918 1411 2 (¥o'01001",
919 1612 2 Xb°01101°,
920 1613 2 Xb'11001° _
921 1614 3 b'11101°5: (bind
922 1415 % real_length = .sp + ,sp(0.0,16,0]): word;
923 1416 3
924 1417 3 overall dsc(len]) = ,overail_dscllen] ¢+ 2¢.5p(0,0,76,0];
925 1418 3 key_dscllen] = ircsc _keycmpovh ¢ .sp(2.0.8,0);
926 1419 3 key_dsclptrl = .sp ¢ 2;
Ye7 1620 3 data_dscllen) = .real length - l dscllen];
928 1621 2 data_dsclptr] = .sp ¢ key_ dsc Tenl;);
929 1422 ¢
930 16423 2 (inrange,
931 1626 3 outrange]: (anl$format error(anlrmsS _baddatarecbits,.rec_bsdlbsd$i_vbnl);
932 1625 2 signal(anlrms$_unwing);
933 1626 2 tes;
934 1627 2
ggg }253 g ! Ensure that the key and data bytes fit in the overall record.
93?7 1430 2 it .key_dsclptrle.key_dscllen] gtru .overall _dsclptrle.overall dscllen] or
938 1431 2 .dat3 dsc ptr]o data dscllen gtru .overall dsc(ptr]6 overall dscllen) then
939 1632 2 anl$format_errorianires$ adkeydataf1t,.rec bsdlbsdst _vbnl);
940 1433 2
961 1434 2 return
9¢ 164%5 2
94 1436 1 END;
INFOR21? Li:13¢5

. Null expression appears in value-required context

0FFC 00000 JENTRY CALCULATE DAYA RECORD [NFO, Save R2.R3,R4,= ; 1299
RS,R6,R7,R8,R9TR1Q, R1Y :
58 000000006 00 9¢ 00002 MOVAB L I1B$S{GNAL, n11 ;
5A 00000000G 8f DO 00009 MOVL SANLRMSS u~u1~o R10 :
57 06 AC DO 00010 MOVL REC_BSD, . 13%1e
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58 0C A7 08 A7 (1 0001« ADDLS  B(R7), 12(R7), RP :
50 08 AL DO 0001A MOvL KEY BSD, RO 1317
56 0C AO 08 a0 (1 0001E ADDLS  8(RD), 12(RO), kP :
51 D& 0002« CLRL R1 S 1327
o1 00006 Df 04 00 €D 00026 (MPZV  #0, #4, JANLSGL_FAT, # ;
02 13 0000 BEQL 18 .
5% 06 ooo;r INCL R :
51 10 (4 00031 18: MuLLZ? #16, R1 :
50 10 A6 01 06 5f 00034 EXTIv #6, &1, 16(kP), RC . 1328
1 61640 7€ 0003A movad  (RI)YCROI, R 21327
S0 10 A6 01 07 Ef 0003E ExTZy a7, #1, f6(xP), RO ; 1329
§1 6140 DE 00046 MovAL  (RTICROD, RI : 13;3
50 68 01 02 EF 00048 EXTIv #2, 81, (RP), RO . 1330
50 61640 3¢ 0004&D movaw (RTI[ROY. RO P 1329
59 ¢8 01 06 EFf 00051 EXTZV  #6, #1, (RP), BITS .13
59 50 €0 00056 ADDL2 RO, BITS :
5% ¢c AC DO 00059 MOVL OVERALL DSC, RS ;1336
% AS 58 0O 0005D MOvVL RP, 4(RS) :
33 68 04 EG 00061 BBS 86, (RP), 7% . 1339
52 68 02 00 EF 00065 ExT2v  #0, 82, (RP), R? : 1340
0% 00 52 CF 0006A CASEL R2, #0, #% :

0017 0012 000D 0008 0006E 2%: .WORD  3%$-2% .- ;
43-2%,- :
5$-2%, - ;
63-2% ;

50 04 DO 00076 3%: MOVL 8., RO ;
1% 11 00079 BRB 8$ :
50 05 DO 0007B 4%: MOVL 25, RO ;
1A 11 0007E BRB 8% ;
50 06 DO 00080 S5%: MOVL 86, RO :
15 11 00083 BRB 8% ;
04 A7 DD 00085 6%: PUSHL L(R7) s 1344
000000006 8fF DD 00088 PUSIHL  #ANLRMSS BADDATARE(CPS :
00006 (¥F 02 B8 0008E CALLS  #2, ANLSFORMAT_ERROR :
SA DD 00093 pusHL  R1§ L1348
68 01 ¢B8 00095 CALLS  #1, LIBSSIGNAL ;
S0 D& 00098 7%: CLRL RO ;1340
65 50 03 A1 0009A B8%: ADDW3  #3, RO, (RS) . 1338
54 65 3¢ 0009E MovZeL (RS), §p . 138
54 58 (0 000A1 ADDL2 RP, SP ;
53 10 AC DO 000A4 MOovL KEY DSC, R3 : 1356
52 14 AC DO 000A8 MOVL DATR_DSC, R? :
62 B4 00OAC CLRW (R2) :
63 B4 Q00AE CLRW (R3) :
77 68 03 €0 000BO B3S 83, (RP), 12% . 136§
1¥ 00 59 CF Q00B4 CASEL  BITS, #0, #3 . 136

0040 0075 0055 0055 00088 9%: _WORD 118-9s - :

0040 0086 0099 0086 000CG 11$-9¢ - :

0040 00AD 00CF 00AD 000(8 138-9¢ .- ;

€040 00AD 00CF 00AD 00000 10$-9% .- ;

0040 0086 0099 0086 00008 15%$-9% . - :

040 0086 0099 0086 000€0 16%-9% .- ;

0040 00AD 00CF 00AD 000€8 15$-9% . - ;

0040 00AD 00CF 00AD 000F 0 10$-9% .- :
17%-9%,~ :
19%-9% . - :
178-9%, - :
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v04-000 ANLS3SIDR_RECO

;945 1437 1 ¥%sbrtl "ANLS3SIDR_RECORD - Print & (heck a Secondary Data Record’

. 96 1638 1 e ) )

. 947 1439 1 ! Functional Description:

. 948 164640 1! This routine is responsible for printing and checking the contents
. 969 1661 1! of a grologue 3 secondary data record (SIDR). SIDRs exist in the
. 950 144% 1! data buckets of secondary indices.

> 16468 1!

. 952 1644 1 ! Formal Parameters:

o 953 164645 1! rec_bsd Address of BSD describing the SIDk.

. 954 164646 1 ! The BSD is ugdated to describe the next SIDR.
;955 14647 1! key_bsd Address of BSD describing the key for this index.
. 956 16448 1 ! report A boolean, true if we are to format the SIDR.

: ggg }223 } ; indent_level Indentation level for the report, if formatted.
. 959 16451 1 ! Implicit [nputs:

;960 16452 1! global data

s 961 1453 1 ! o

. 962 16454 1 ! Implicit Outputs:

;963 16455 1! global data

. 966 16456 1!

;. 965 1457 1 ! Returned value: ) _

;. 966 1458 1! True it there is another SIDR in the bucket, faise if not.

s 967 1459 1 ¢

: 968 1460 1 ! Side Effects:

;969 16461 1!

. 970 1662 1 !=-

14 16463 1

. 972 1664 1 . )

. 973 1465 1 global routine anl$3sidr_record(rec_bsd,

. 974 1466 1 key_bsd,

;975 16467 1 report: byte, .

. 976 1468 2 indent_Level: long) = begin

. 977 16469 ¢

. 978 1470 2 bind

. 979 1471 2 b = .rec_bsd: bsd,

. 980 1472 2 k = .key_bsd: bsd.

. 981 1473 2

. 98¢ 1474 2 local

;. 983 1475 2 hp: ref block(,byte],

. 98¢ 16476 2 sp: ref block(,byte),

. 985 1477 2 kp: ref block(,byte],

. 986 1478 2 length: long

;. 987 1479 2 key length: [ong,

. 988 1480 2 p: bsd,’

. 989 1481 2 sidr_pointers: long;

;. 990 16482 2

;9N 1483 2 . .

. 992 14846 2 ! First we have to ensure that the SIDR record fits in the used space of
;993 1485 2 ! the bucket. If not, we have a drastic structure error, Begin by ensuring
;996 1486 2 ! that the length, which is the first word, fits.

. 995 16487 2

. 996 1488 ¢ hp = .blbsd$i_butptr];

;997 1489 3 it .blbsd$l_oftset] + 1 ?equ .hp(bktSw_freespace] then (

: 998 1490 3 anl$tormat_errorlanirms$_baddatarectit,.blbsd$l_vbnl);

;999 1491 3 signal (anTrms$_unwind);

. 1000 16492 2 ).

; 1001 1493 2
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: 100§ 16496 2 ! Now we cailculate the Length of the entire SIDR record. It's just the
: 100 1495 2 ! 2-byte lenath plus the number of bytes specified by the length, wWhile
; 1004 1496 2 ! we're at it, calculate the length of the key.
. 1005 1697 2
: 1006 1498 2 kp = .k[bsdSl_bufptr] ¢+ .k[bsd$i_otfset];
. 1007 16499 2 sp = .blbsd$i_bufptr] ¢+ .blbsdSt_oftset];
: 1008 1500 ¢ length = 2 ¢+
s 1009 1501 2 .sp(0,0,16,01;
: 1010 150% 3 key_length = (it .kpfkeyiv_keg_compr) then
;10N 1503 3 .spl2.0,8,0] + irc$c_keycmpovh
: 101; 1506 3 else
;101 1505 2 .kplkey$b_keysz]);
; 1014 1506 2 )
: }8}2 }ggg % ! Make sure the entire SIDR fits in the used space of the bucket.
: 1017 1509 3 it .blbsd$t_otfset] + .length gtru .hp[bktSw_freespacel then (
. 1018 1510 3 anl$tormat_error(anlrms$_baddatarecfit,.blbsd$l_vbnl);
: 1019 1511 3 signal (anTrms$_unwind);
; 1020 1512 2 ).



T Nl Gl

H 16
RMSTIDX RHSB&D! - Anal‘ze Things for Prolog 3 Indexed f 15 -Sep=-1984 % 8 VAX=11 B isg-SZ v6.0-742 Page 43
v04-000 ANLS3SIDR_RECORD = Print & (heck a Secondary Da 14-Sep=-1984 .5 [ANALYZ.SRCIRMS3IDX.B32;1 (18)
: }8% 12}2 2 ! Now we can format the SIDR record fixed portion, if requested.
: 1026 1515 g it .report then (
: 1025 1516 3 ) )
. 1026 1517 3 ' Start with a nice header.
: 1027 1518 3
: 1028 1519 3 anl$format_Line(3,.indent_Level ,anlrms$_idxsidr,.blbsd$l_vbn],.blbsdSl_ottsetl);
: 1029 15¢0 3% anlSformat sk1p(0)
: 1030 1521 3 . .
;10N 1522 3% ! ALl we have to format is the key. Build a descriptor for it and
: 1032 1523 3 " dump 1t in hex.
. 1033 15264 3 .
: 1034 152% 3 ani$tormat_Line(0,.indent_Llevel+l,anlrms$_idxkeybytes);
. 1035 1526 & begin
. 1036 1527 4 local _
; 1037 1528 & key_dsc: descriptor;
. 1038 1529 &
; 1039 1530 ¢ build_descriu.or(key_dsc, _length,spl(2,0,0,0]);
; 1040 1531 & anl$format_hex(.indent_ level* Tkey_ dsc).
: 10461 1532 3 end;
: 10462 153% 2 );
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1044 ! There is nothing more to check about the fixed portion of the SIDR.

1045 ! 1t we aren’t displaying this record, then we want to check all of

1046 ! the SIDR pointers,

1047

048 sidr_pointers = 0

Cs 1t not .report then (

! Set up 8 BSD to describe the tirst SIDR pointer. This includes
. setting the work lLongword to the number of bytes worth of
! pointer existing in the record.

init_bsd(p);
cogy bucket(b.g);

p(bsdSL_otfset) = .blbsd$l _ot
plbsd$l_work] = .sp(0,0,16,0]

' Now we can loog through each pointer, checking its integrity,
. and counting them as we go.

fset]l + 2 + _key_length;
- .key_length;

do increment(sidr_pointers) while anl$3sidr_pointer(p,false);

(o Yo Fe ¥ Yo RV IV I IV IV IV NIV IV IV,

anlSbucket(p,=-1);

b
L)

statistics_callback(

. 1t we are accumulating statistics, we want to call the data

! record callback routine and tell it the overall record Length,
! compressed key length, and compressed data length., The latter
. makes no sense for SIDRs. We also need to tell 1t the number
: ot SIDR pointers in this record.

ant$data_caliback(,length,
ékey_length,

[ i S S G~ S G S S S S S S S S S S S i S S {

[T R FE NI KN N Y T PO T I T TN N T O T I P Y I S e T P P PR YR PR IR R R Y I

—t ) ) ol el el ) il il il D ) il il il il ekl D sl ) D el i D il il D il i D el el
ooooooooocoooocgooooooooooooooo
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.éidr_pointers);
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. 108 15N S ! Now we want to advance on to the next SIDR in this bucket, if there
: }834 }g;i ' isn't room for one, then we're done. Otherwise update the BSD.
; 1085 1574 i it .b(bsd$l_otfset]) ¢ .length Lssu .hp(bktSw_freespace] then (
. 1086 1575 % b{bSd$l oftset] = .blbsdsi of!set] ¢+ .length;
: 1087 1576 3§ return True:
; 1088 1577 2 ) else
. 1089 1578 2 return false;
: 1090 1579 2
;109 1580 1 end;
OFFC 00000 LENTRY ANLS3SIDR_RECORD, Save R2,R3,R4,RS5,R6,R7,= ; 1465
R8 . R9,R10,R11 :
SE 28 (2 00002 susL2  #40, Sp :
56 04 AC DO 00005 MOVL REC_BSD, R6 R TYA
52 08 AC 00 00009 MOovL KEY"BSD, R2 ;1672
SA 0C A6 DO 0000D MOVL 12(R6), HP : 1488
57 08 A6 DO Q0O MOVL 8(R6), R7 : 16489
50 01 A7 9t 00015 MOVAB 1(R7), RO :
50 04 AA 10 00 ED 00019 (MPZV #0, #16, 4L(KP), RO H
18 1A 0001Ff BGTRU 1% K
06 A6 DD 00021 PUSHL &4 (R6) : 1690
000000006 8F DD 00024 PUSHL  #ANLRMSS BADDATARECFIT :
00006 (CF 02 FB 0002A CALLS #2, ANLSFORMAT ERROR :
000000006 8F DD 0002f PUSHL  #ANLRMSS UNWIND : 169
000000006 00 01 B 00035 CALLS #1, LIBSSIGNAL :
50 0C A2 08 A2 (1 0003C 1%: ADDLY  8(R2), 12(R2), KP : 1498
59 57 0C A6 (1 00042 ADDLY  12(R6), R7, SP : 1499
6E 69 3C 00047 MOVZMWL (SP), LENGTH : 1500
6t 02 (0 0004A ADDL?2 #2, LENGTH :
09 10 AQ 06 E1 0004D 88(C #6, 16(kKP), 2% : 150
58 02 A9 9A 00052 MOVZBL 2(SP), KEY _LENGTH : 150
58 02 (€0 00056 ADDLS  #2, KEY_LERGTH :
04 11 00059 BRB b33 :
58 1¢ A0 9A 0005B 2%: MOVIBL 20(KP), KEY_LENGTH : 1505
04 AE 57 6 C1 000SF 3%: ADDL3  LENGTH, R7,74(SP) : 1509
04 At 04 AA 10 00 ED 00064 CMPZY 8, #16 6(HP) 4(SP) :
18 1 00068 BGEQU 4 H
Cé A6 DD 0006D PUSHL 4 (R6) ; 1510
000000006 8F DD 00070 PUSHL  #ANLRMSS BADDATARECFIT :
00006 (¥ 02 B 00076 CALLS  #2, ANLSFORMAT ERROR :
000000006 8F DD 00078 PUSHL  #ANLRMSS UNWIND ;1511
000000006 00 01 B 00081 CALLS #1, LIBSSIGNAL .
YA 0C AC E9 00088 &4§%: BLB( REPORT, 5% : 151§
S? DD 0008( PUSHL  R7 : 1519
04 A6 DD 0008E PUSHL 4(R6) :
000000006 8F 0D 00091 PUSHL  #ANLRMSS IDXSIDR :
10 AC 0D 00097 PUSHL  INDENT_LEVEL :
03 0D 0009A PUSHL #3 :
0000G (CF 05 B 0009C CALLS #5, ANLSFORMAT LINE H
7€ D4 000A1 CLRL -($P) : 1520
00006 f 01 B8 000A3 CALLS #1, ANLSFORMAT SKkI|P :
000000006 8F DD 000A8 PUSHL IANLRHSS IDXKEYBYTES ;1528
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143 10 AC 01 CY 000AE ADDL3 #1, INDENT_LEVEL, =(SP) :
7¢ D4 00083 CLRL -(SP) :
00006 CF 03 fB 000BS CALLS  #3, ANLSFORMAT L INE :
08 At 58 DO Q00BA MOVL KEY LENGTH, KEY DSC ; 1530
0C AE 02 A9 9t 000BE MOVAB  2(R9), KEY Dsc+t :
08 AE  9F 000C3 PUSHAB KEY_ DSC ;150
7¢ 10 AC 02 (€1 000Cé ADDL3  #2,  INDENT LEVEL, =(SP) :
000)G (CF 02 FB 000(B CALLS  #2. ANLSFORMAT_HEX :
58 D& Q00D0O 5§%: CLRL SIDR POINTERS ; 1538
47 0C AC €8 000D2 BLBS REPORT, 7 : 1539
18 00 6E 00 2C 00006 MOvVCS  #0, (SP), JO. n6, P s 1545
10 AE oo0oB :
10 AE 65 70 0000D MOva (R6), T ; 1546
18 AE 08 A6 DO 000E1 MOVL B(R6), T+8 :
24 At 14 A6 DO 000E6 MOVL 20(R6), T+20 :
7€ D& QOOEB CLRL ~-(SP) :
14 AE 9F QO0OED PUSHAB T :
00006 CF 02 FfB 000f0 CALLS  #2, ANLSBUCKET :
18 AE 02 A847 9E Q00FS5 MOVAB 2(KEY_LENGTH)[R7], P+8 : 1547
50 69 3C 000fB MOVZWL (SP), RO : 1548
24 AE 50 58 (3 OOOFE SUBL3  KEY_LENGTH, RO, P+20 :
SB D6 00103 6%: INCL SIDR _POINTERS s 1553
76 D4 00105 CLRL -(SPY :
14 AE  9F 00107 PUSHAB P :
0000V (F 02 FfB 0010A CALLS  #2, ANLS3SIDR_POINTER :
F1 50 EB8 Q010F BLBS RO, 6% :
7€ 01 CE 00112 MNEGL #1, =(SP) : 15558
14 AE  9fF 00115 PUSHAB P :
0000G CF 02 FB 00118 CALLS #2, ANLSBUCKET :
02 00006 CF 91 Q011D 7%: (MPB ANLSGB MODE, #?2 : 1570
07 13 00122 BEQL 8$ :
04 00006 CF 91 Q0124 (mPB ANLSGB_MODE, :
0E 12 00129 BNEQ 9% :
58 0D 00128 8%: PUSHL SIDR_POINTERS :
7€ D& 00120 CLRL -(SPY :
58 DD 0012F PUSHL KEY _LENGTH :
0cC AE DD 00131 PUSHL LENGTH :
0000G (F 04 FB 00134 CALLS #4, ANLSDATA CALLB K :
04 AE 04 AA 10 00 ED 00139 9%: CMPIV  #0. #16, 4(HP), &(SP) : 1574
08 1B 00140 BLEQU 10§ ;
08 Ab 6 (€O 00142 ADDL 2 LENGTH, B(R6) : 1875
50 01 DO 00146 MOVL #1, RO : 1578
04 00149 RET :
50 D& 0014A 10%: CLRL RO :
04 0014¢C RET : 1580

; Routine Size: 333 bytes, Routine Base: $CODES + 07f1
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}882 Ysbttl "ANLS3ISIDR_POINTER - Format & Analyze SIDR Pointer'

Yoo

1095 : functional Description:

1096 This routine is responsible for formatting and analyzing one of the

1097 ointers in a SIDR record. There is one pointer for each record

1098 aving the secondary key present in the SIDR header. This code is

99 for prologue 3 indexed files.

fFormal Parameters: o )

pointer_bsd Address of BSD describing the pointer., The work
longword in the BSD is assumed to contain a count
of remaining bytes in the SIDR record,

report Boolean, true 1f we are to format the pointer,

indent_level Indentation level for the report.

Implicit Inputs:
global data

Implicit Outputs:
global data

Returned value: . ] )
True if there is another SIDR pointer, false otherwise.

Side Effects:

R Ll R T T I R e

global routine anl$3sidr_pointer(pointer _bsd,

report: byte, .
indent_Level: Long) = begin
bind

p = .pointer_bsd: bsd;

pointer_flags_def: vecto;[9,long] initial(

0.
0,
3plit byte (Xascic "IRCSV_DELETED'),

uﬁlit byte (Xascic 'IRCSV_NOPTRSZ'),
8pl1t byte (Xascic 'IRCSV_RU_DELETE"),

?5tit byte (Xascic "IRCSV_FIRST_KEY')

N b e b wh e ed ah = ek =2 O OO OCQCOOOCOO VOV VYOV VOOV OOomOo00000o000 M v

NV NN =2 OOV NO NS NN =2O VNN AN =2 O OO0 N WL N = O V0D ~NON NS AN = OO 00 NN BN NN —

local
pp: reft block[,bytel],
length: long;

the used space of the bucket, because

! We know the SIDR record fits in
_RECORD.

! that was checked in ANL$3SIDR

o N o N0 Yo Yo Yo Yo Yo Yo Yo Yo X0 Yo Yo Yo Lo o Lo Yo To To Yo Jo Ko Yo Yo Yo Jo To Yo Xo To To Yo Yo Jo Yo Yo SV IV [V IV IV [V IV IV IU IV 10 Vol I TV IV IV IV IV I

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
]
]
1
1
1
1
1
2
2
2
2
2
2 own
2
2
2
2
2
P4
2
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2
2
2
2
2
2
V4
l
2
P
2
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OO NO VB NN =20 VR NO N NN 2OV N WVNAEN 2O 000 N WV NN = O 000 NN W = O

WA AN AN NN AN N PO NI NS PO RO NO RO
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! SO we can calculate the overall Length of the pointer.

= ,plbsd$l bu{ptr] + .plbsd$l_offset];

RMS31DX
v04-000

wno

POANLANRNIRNINONOND £~ 85 W SN 55 8 SN AfONUNINND =

32 V4. G=742 Page 48
MS3IDX.B832;1 (2N

WA
”l

0

ength =
(it .pplirc$v_noptrsz) then 0 _else
(case .pplircSv_ptrsz] from 0 to 3 of set
(0]): 4;
(1]: 5;
(2] 6;
(3] (anl$format error(anlrmss baddatarecps..p[bsdil vbnl);

signal (anlrms$_unwind);
) tes)

! Make sure the entire pointer fits in the SIDR record. [f not, that's a
! drastic structure error,

if length itru .plbsd$l_work] then (
nl$format _errorTanirms$ _badsidrptrfit,.plbsd$l_vbnl);
S1gnal (anTrms$_unwind);

([ FETETEIE FETE IR FE FN PR YR YR NN NN TN FE NN TR EN WY
— o ol il el ) el ) wnd el e D el ) D ) ol
-l e ol il el pud D el il s ) D D D il D D il i D d
cooocoooco oo oo oo oo ZR
VIWANWAWVAWNAINANG SN e T
CO~NO N EANN = OO0 NN AN = O 000 BN

~NO OO OO OO O O O NN INWNAWIIRIWIUWA
OL O~NOWNNANNI = OOV ~NO NS W= O

A
®e
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: 11T§ 1659 ¢ ! Now we can format the SIDR pointer if requested.

RN, 1660 g ,

s 1176 1661 it .report then (

;1178 1662 3

. 1176 1663 3 ! format the flags.

: 1177 1664 3 )

: 1};8 }ggg % ani$tormat_tlags(.indent_Llevel,anlrms$_idxsidrptrflags,.pplirc$b_controll,pointer_tflags_det);

;. 118D 1667 3 . And the record ID and bucket VBN, if present.

© 1181 1668 3 ,

: 1182 1669 & it not .pplircSv_noptrsz) then ( )

; 1183 1670 & anl$format_Line(0,.indent_Level,antrmsS_idxsidrptrref,.pp(1,0,16,0],.pplircSv_ptrszl+2,

: 1184 1671 S (case .pplirc$v_ptrsz) From 0 to 2 of set

: 1185 1672 5 (0): .op(3.0716,0];

: 1186 1673 5 (1) pp[3.0.24.03;

: 187 1674 S [2]: ppl3,0,32,0];

: 1188 1675 & tes));

: 1189 1676 3 );

; 119¢ 1677 2 ):
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R 119% 1678 2 | Now we have to check the record pointer, The only thing to check is
; }}ga }g;g % ! the control flags. Don't get confused by the pointer size.
; }}gg }gg} % ani$check_tlags(.plbsdSl_vbnl,.pplircSb_control] and Xx'fc',pcinter_flags_def);
. 1197 1683 2 ! Now we want to advance on to the next pointer. Reduce the count of
: 1198 1684 ¢ . remaining bytes. If it goes to 2ero, there are no more pointers.
- 1199 1685 ¢ ! It it doesn't, then update the BSD.
; 1200 1686 2
;1200 1687 2 plbsd$l_work] = ,p(bsd$l_work] - .length;
. 1202 1688 3 it .plbsdSl_work] gtru 0 then (
. 1203 1689 3% plbsd$l _offset] = .p(bsd$l_offset] ¢ .length;
;1204 1690 3 return true;
. 1205 1691 2 ) else
. 1206 1692 2 return false;
s 1207 1693 ¢
. 1208 1694 1 end;
: INFOR12 Li:1648
: Null expression appears in value-required context

.PSECT S$SPLITS NOWRT NOEXE,Z

e &5 56 65 40 45 L4 5F 56 24 43 52 49 0D 0Q0Q7E P.AAJ: LASCII <13>\IRCSV_DELETED\

SA 53 52 564 50 4F 4FE S5F 56 24 43 52 49 0D O0008C P.AAK: ASCI] <13>\IKCSV_NOPTRSZ\
56 &5 40 65 &4 SF S5 52 SF 56 24 43 52 49 2; 88826 P.AAL: JASCII <15>\JRCSV_RU_DELETE\
&5 4B 5F 54 53 52 49 &6 SF 56 24 43 52 49 25 88883 P.AAM:  _ASCIi <15>\IRCSV_FIRST_KEY\

.PSECT SOWNS ,NOEXE,?2

00000000 00000000 00000007 0003C POINTER_FLAGS_DEF:
.LONG 7, 0, 0

00000000° 00048 .ADDRESS P.AAJ
00000000 0004C LONG O

00000000* 00000000' 00050 .ADDRESS P.AAK, P.AAL
00000000 00058 .LONG O
00000000°* 0005¢C .ADDRESS P.AAM

.PSECT $CODES,NOWRT,?2

00FC 00000 .ENTRY ANL$3SIDR POINTER, Save R2.R3,R4,R5,R6,R7
$7 000000006 00 9€ 00002 MOVAB  LIBSSIGNAL, R7
56 000000006 8F DO 00009 MOVL #ANLRMSS UNWIND, R6
54 04 AC DO 00010 MOVL POINTER _BSD, R4
52 0C A& 08 A4 (1 00014 ADDL3  8(R&), T2(RE), PP
33 62 04 EO 0001A BBS 8., (PP), 6%
55 62 02 00 CF 0001E EXTIV  #0, #2, (PP), RS
03 00 CF 00023 CASEL RS, #0. #3
0017 0012 000D 0008 00027 1%: .WORD g-}:.-
4$-1% .-
5¢-1%

LI L L A
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%000
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53 04 DO ooogr 2%: MOVL #6, R3 :
1fF 11 00032 BRB 7% :
53 05 DO 00034 3%: MOVL vs R3 ;
1A 11 00037 BRB 7% ;
53 06 DO 00039 4%: MOVL #6, R3 ;
15 11 0003C BRB 7% :
04 A4 DD QOO03E 5%: PUSHL  &4(R4) T 1647
00000000G 8F DD 00041 PUSHL #ANLRMSS BADDATARECPS :
0000G CF 02 FB 00047 CALLS w2 ANLSFORMAT_ERROR :
56 DD 0004C PUSHL ; 1648
67 01 FB 0004E CALLS w1 LIBSSIGNAL ;
53 D& 00051 6%: CLRL rR3" ;1643
53 D6 00053 7%: INCL LENGTH ;1641
14 A4 53 D1 00055 CMPL LENGTH, 20(R&) ; 1655
13 18 00059 BLEQU 8$ :
04 A& DD 000958 PUSHL 4 (R4) : 1656
000000006 8F DD 0QO0O0S5SE PUSHL #ANLRMSS BADSIDRPTRF]T ;
0000G CF 02 FB 00064 CALLS  #2, ANLSFORMAT_ERROR :
56 0D 00069 PUSHL R6 ; 1657
67 01 FB 00068 CALLS #1, LIBSSIGNAL :
55 08 AC E9 0006E 8%: BLB( REPORT, 14% ;1661
0000' CF 9F 00072 PUSHAB POINTER_FLAGS_DEF : 1665
7€ 62 9A 00076 MOVZIBL (PP), =TSP) ;
000000006 8F DD 00079 PUSHL  #ANLRMSS [DXSIDRPTRFLAGS :
0C AC DD Q007Ff PUSHL  INDENT LEVEL :
00006 CF 04 FB 00082 CALLS  #4&. ANCSFORMAT_FLAGS :
3C 62 04 EO 00087 BBS 26, (PP), 148 ~ : 1669
50 62 02 00 EF 0008B EXTZV ¥0, #2, (PP) RO : 1671
02 00 SO CF 00090 CASEL RO, #0. [ ¥4 ;
0014 000C 0006 00094 9%: .WORD 108-9% .- :
11$-9%,- :
129-9% ;
7€ 03 A2 3C 0009A 10%: MOVZIWL 3(PP), =(SP) ; 1672
0B 11 0009E BRB 13$ :
143 03 A2 18 00 EF 000AD 11$: EXTIV  #0, #24, 3(PP), =(SP) : 1673
03 11 000A6 BRB 13§ ;
03 A2 DD 000AB 12%: PUSHL  3(PP) : 1674
7€ Y 02 00 Ef QO0AB 13%: EXTIZV  #0, #2, (PP), =(SP) ;1670
6F 02 (€0 00080 ADDL2 #2, (SP) :
7t 01 A2 3C 00083 MOVIWL 1(PP), =(SP) :
000000006 8F DD QOORB7 PUSHL #ANLRMSS IDXSIDRPTRREF :
0C AC 0D 0Q00BD PUSHL  INDENT_LEVEL :
7t D& 000CO CLRL -(SP) :
0000G CF 06 B 000C? CALLS  #6, ANLSFORMAT LINE ;
0000°* CF 9F Q00C7 14%: PUSHAB POINTER FLAGS_DEF : 1681
50 62 9A 000CB MOVIBL (PP)i RO :
7€ 50 FFFFFFO3 8F (B 00OCE BICLY  #-25%, RO, =(SP) :
04 A4 DD 000D6 PUSHL & (R4) :
00006 Cf 03 FB 000D9 CALLS  #3, ANLSCHECK FLAGS :
14 Ad 53 (2 000DE SUBL? LENGTH, 20(R4Y : 1687
08 13 0002 BEQL 15% : 1688
08 A4 53 (0 000FE4 ADDL2 LENGTH, B(R&) : 1689
50 01 DO QO00E8 MOVL #1, RO : 1692
04 000EB RET :
50 D& Q0OEC 15%: CLRL RO :
04 000EE RET . 1694
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v04-000 ANLS3SIDR_POIN
. Routine Size: 239 bytes, Routine Base: $CODES ¢+ 093t

®eswene tsa, e

; (ompit

ER - Format & Analyze SIDR Point 14-Sep~1984 52:5 CANALYZ.SRCIRMS3IDX.B32:1 (23)

1209 1695 1
1210 1696 0 end eludom
LEXTRN LIB$SIGNAL
PSECT SUMMARY

Name Bytes Attributes
SPLITS 186 NOVE(,NOWRY, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC.ALIGN(2)
SOWNS 96 NOVEC, WRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)
$CODES 2605 NOVEC,NOWRT, RD , EXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)

Library Statistics
S eessesss Symbols =-=ec=e=- Pages Processing

File Total Loaded Percent Mapped Time

_$2558DUARB:[SYSLIRILIB.L3Z; 18619 38 0 1000 00:01.8

Information: 2
wWarnings: 0
Errors:

COMMAND QUALIFIERS
BLISS/CHEC(K=(FIELD,INITIAL,OPTIMIZE)/LIS=LISS:RMS3IDX/0BJ=0BJ$:RMSIIDX MSRCS:RMS3IIDX/UPDATE= (ENHS:RMS3IDX)

Size: 2605 cude + 282 data bytes
Run Time. 00:46.8

Elapscd Time: 02:10.9

L ines/CPU Min: 2172

Lexemes/(PU-Min: 20559
Henor{ Used: 287 pages
ation (omplete

«
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